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Question Number : 1 Question Id : 59445946972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Kagyed dance, a customary dance festival, celebrated annually in falls on the 28th and 29th day of the tenth month according to
Tibetan calendar.

Options :

1. ¥ Sikkim

2. * Gujarat

3. % Manipur

4. * Tripura

Question Number : 1 Question Id : 59445946972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ Rifewa

Question Number : 2 Question Id : 59445946973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following caves is not located in Maharashtra?
Options :

1. # Ellora Caves

2. # Elephanta Caves

3. % Ajanta Caves

4. ¢ Udayagiri Caves

Question Number : 2 Question Id : 59445946973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFaffead & 9 &1 I [T 7RIy # Ry 81 o2
Options :

1. % TARTIHIY

2. % URTEA w1

3. % 3foidT WIY

4. ¥ IAMR TB1Y

Question Number : 3 Question Id : 59445946974 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

As announced in the Budget 2021, the Government of India decided to set up Bio-Safety Level I1I laboratories.
Options :

1. %6

2. % 4

3.0

4, % 12

Question Number : 3 Question Id : 59445946974 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 6

2.% 4

3.9

4. % 12

Question Number : 4 Question Id : 59445946975 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
refers to a certain percentage of reserves to be maintained by commercial banks in the form of cash, gold and other

securities.

Options :

1. ¥ Statutory Liquidity Ratio
2. % Reverse Repo Rate

3. % Repo Rate

4. ¥ Cash Reserve Ratio

Question Number : 4 Question Id : 59445946975 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. ¢ YT dRadT U
2. % gy dive
3. ¥ MR
4. % g 3MRET SUd

Question Number : 5 Question Id : 59445946976 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is considered as the lowest layer of Earth’s atmosphere.

Options :

1. ¥ Troposphere
2. % Stratosphere
3. % Mesosphere
4. ¥ Exosphere

Question Number : 5 Question Id : 59445946976 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
&1 gl & agHSd o1 TaY e e W1 ofa 3|
Options :
1. ¢ &HATSH
2. % JHJUHUST
3. ¥ HYHUST
4. ® JlgIHUSH

Question Number : 6 Question Id : 59445946977 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is caused by damage to the adrenal glands which make hormones to control the body’s response to stress and balance body salt

and water.



Options :

1. # Graves' Discase

2. ¥ Addison's disease

3. % Cushing's Syndrome

4. % Parkinson's Disease

Question Number : 6 Question Id : 59445946977 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % YT INT

2.« TSR R

3. % SR RIS

4. % TG I

Question Number : 7 Question Id : 59445946978 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The famous Pichola lake is located in which of the following states?
Options :

1. # Andhra Pradesh

2. ¥ Rajasthan

3. % Sikkim

4. % Tamil Nadu

Question Number : 7 Question Id : 59445946978 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 3y U=
2. % ST

3. % fufepH

4, % QAT

Question Number : 8 Question Id : 59445946979 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Cardamom Hills is a part of which of the following ranges?
Options :

1. ¥ Western Ghats

2. % Eastern Ghats

3. #® Aravalli

4. # Vindhyas

Question Number : 8 Question Id : 59445946979 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ Ufgedt ure
2. % gdfare
3. % 3Rl
4. % fdeg

Question Number : 9 Question Id : 59445946980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Lord Minto concluded the treaty of Amritsar with Maharaja Ranjit Singh in
Options :



1. * 1824
2. % 1831
3. ¥ 1809
4. %= 1815

Question Number : 9 Question Id : 59445946980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

drs et = o TGRS 0TS g & Y 3R &1 i Jud Dl |
Options :

1. % 1824

2. % 1831

3.9 1809

4. % 1815

Question Number : 10 Question Id : 59445946981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When was the Champaran Agrarian Law passed by the British Government?
Options :

1. * 1921

2.4 1918

3. % 1912

4. % 1915

Question Number : 10 Question Id : 59445946981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ffeR WHR GRT FURY WIRTA BT odl TR fobam a1 U1
Options :

1. % 1921

2.9 1918



3. % 1912
4. % 1915

Question Number : 11 Question Id : 59445946982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The capital of Kakatiya dynasty was

Options :

1. ¥ Warangal
2. % Kalyani

3. ¥ Madurai
4, % Kanchi

Question Number : 11 Question Id : 59445946982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
BIeh g AT bl ASTYTHT i
Options :

1. ¢ I

2. % FHeuit

3. % AT

4. % Bl

Question Number : 12 Question Id : 59445946983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The real name of Mirabehn, British-born follower of Mahatma Gandhi who participated in the movement for India's independence is

Options :

1. ¥ Madeleine Slade

2. # Agnes Gonxha Bojaxhiu
3. % Margaret Elizabeth Noble



4. % Annie Besant

Question Number : 12 Question Id : 59445946983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRA P WAl & Hialad 8 YR o+ aTel JgTe Tieht & fofe=r ga & sraardt dRie= &1 arafad 9| gl
Options :

1. ¢ TS i

2. % ST Mol SThory

3. % AFRE Tfeoey Aigd

4. % T SO<

Question Number : 13 Question Id : 59445946984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Match the following books with the authors -

1. The Lowland A. Neel Mukherjee
2. Satanic Verses B. Amitav Ghosh

3. The Lives of Others C. Salman Rushdie
4. River of Smoke D. Jhumpa Lahiri
Options :

1. ® 1-D, 2-B, 3-C, 4-A
2.¥1-D,2-C, 3-A,4-B
3. ¥ 1-B,2-C, 3-A, 4-D
4. % 1-B, 2-D, 3-A, 4-C

Question Number : 13 Question Id : 59445946984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® 1-D, 2-B, 3-C, 4-A
2.¥1-D,2-C, 3-A,4-B
3. ¥ 1-B,2-C, 3-A, 4-D
4. % 1-B, 2-D, 3-A, 4-C

Question Number : 14 Question Id : 59445946985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The foreign minister of was elected as the new President of United Nations General Assembly on 7th June 2021.
Options :

1. ¥ Maldives

2. # Algeria

3. % Belgium

4. % Bhutan

Question Number : 14 Question Id : 59445946985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& faa=1 H3ll 1 7 S 2021 1 TGk Y HETHHT o T A& b U H 1 71 4T
Options :
1. ¥ ATadg
2. % 3ol
3. % Sfeay
4. % UTH

Question Number : 15 Question Id : 59445946986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The President of signed a law that formalized the country's exit from the Open Skies Treaty in June 2021.
Options :

1. % United Kingdom

2. % India

3. # China

4. ¥ Russia

Question Number : 15 Question Id : 59445946986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& YU A BT W EATER BT o S 2021 H 370 W18 HiY T G2 & a1eR Mepetq 1 sfiuanies & faan
Options :
1. % gA3cS fhren

2. % YRd
3, % 4
4. ¢ g

Question Number : 16 Question Id : 59445946987 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

India has ranked on the 17 Sustainable Development Goals in the latest ranking as of June 2021, according to State of India's
Environment Report 2021.

Options :

1. # 106th
2. % 105th
3. % 117th
4. % 119th

Question Number : 16 Question Id : 59445946987 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 106d
2. % 1059
3.¢ 1174
4. % 119d

Question Number : 17 Question Id : 59445946988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The minimum age for election as a member of a Panchayat is

Options :

1. % 25 years
2. % 21 years
3. % 28 years
4. % 30 years

Question Number : 17 Question Id : 59445946988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TaRd YT F SUA A S U gaaqemg Bl
Options :

1. % 2594
2.4 21 TN
3. % 28 Y
4. % 3039

Question Number : 18 Question Id : 59445946989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who among the following was the first Home Minister of India?
Options :



1. ¥ Sardar Vallabhbhai Patel
2. * Jawaharlal Nehru
3. % Rajendra Prasad

4. ¥ Bhimrao Ramji Ambedkar

Question Number : 18 Question Id : 59445946989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad & @ ®F YRd &1 YT T Tt U1
Options :

1. ¢ TCR TEAYHTS Ued

2. % TAERAd g%

3. % o= UG

4. % TR ST STESH

Question Number : 19 Question Id : 59445946990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On 7th June 2021, became the second-highest active international goal scorer in football.
Options :

1. % Sunil Chhetri

2. # Lionel Messi

3. % Cristiano Ronaldo

4. % Andres Iniesta

Question Number : 19 Question Id : 59445946990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ gArd &3




2. # forgma At
3. % fopfear AATeS!
4. % TgY sMTxEI

Question Number : 20 Question Id : 59445946991 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Kamaljeet Sandhu is a female Indian athlete who won gold medal at 1970 Bangkok Asian Games in race.
Options :

1. % 250 m

2. % 400 m

3. % 300 m

4. % 550 m

Question Number : 20 Question Id : 59445946991 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. # 250 m
2. % 400 m
3. % 300 m
4. % 550 m
General Ability
Group Number : 2
Group Id : 5944591070
Group Maximum Duration : 0
Group Minimum Duration : 0

Show Attended Group? : No



Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
General Ability

Section Id : 5944591882

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 5944592207

Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 59445946992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the following series:

d144, y289, 1841, ¢529, ?
Options :

1. # s125

2. % e563

3. ¥ w1024

4. % k1056

Question Number : 21 Question Id : 59445946992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
fafeRad gae &1 R

d144, y289, 1841, ¢529,?
Options :

1. % 5125

2. % e563

3. ¥ w1024

4. % k1056

Question Number : 22 Question Id : 59445946993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. % JHEL
2. % RPMT
3. ¥ WURY
4. v YWTM

Question Number : 22 Question Id : 59445946993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu T iimedl H @ & T RfYd ai% A TUM &1 5TalTP, T faed 3 diF o1 oRE el ¢ | 39 f[dhcd T I8 &Y off 37 ¥ AT 5
Options :

1. # JHEL

2. % RPMT

3. ¥ WURY

4. ¥ YWTM

Question Number : 23 Question Id : 59445946994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

AZ :26::BY :?
Options :

1. % 27

2.9 50

3. % 52

4. % 23

Question Number : 23 Question Id : 59445946994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
39 fAH e T 997 B S iR UG ¥ 341 UHR ¥ Yafdd g fo JR ¥ gOR1 UG Ugd Ug ¥ Hafed g

AZ:26::BY :?
Options :

1. % 27

2.9 50

3. % 52

4, % 23

Question Number : 24 Question Id : 59445946995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three.
Select the option which is different from the rest.

Options :

1. % 52:2401
2. % 41:625
3.911:32
4. % 72:6561



Question Number : 24 Question Id : 59445946995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 52:2401

2. % 41:625

3.911:32

4. % 72:6561

Question Number : 25 Question Id : 59445946996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

Iraq : Dinar :: Korea : ?
Options :

1. * Yen

2. * Rupees

3. * Pound

4. ¥ Won

Question Number : 25 Question Id : 59445946996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % o
2. % dUY]



3. % Uds
4. 34

Question Number : 26 Question Id : 59445946997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

GBXD : 19 :: LNRA :?
Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1.18

2. 19

3.20

4.21

Question Number : 26 Question Id : 59445946997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fased &1 999 B S R Ue J I UHR ¥ afd § oy R ¥ k1 Ue Ugd Ue § Yafdd 7
GBXD : 19 :: LNRA : ?
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. 18

2.19

3.20

4.21




Question Number : 27 Question Id : 59445946998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language if MILK is coded as 1112913, BAT is coded as 2012, then what will POT be coded as?
Options :

1. % 201514

2. % 201515

3. ¥ 201516

4. % 201517

Question Number : 27 Question Id : 59445946998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U (AfYd ie U & afd MILK &) 1112913 & U H Sifed fd1 T ], BAT &1 2012 & ¥0 § Sifsd fHar mar g, @ POT &1 » Hifsd
foar s

Options :

1. % 201514

2. % 201515

3. ¢ 201516

4. % 201517

Question Number : 28 Question Id : 59445946999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language if PEN is coded as 7, DOG is coded as 12, then what will STOP be coded as?
Options :

1. * 35

2. % 36

3. % 37

4.+ 38



Question Number : 28 Question Id : 59445946999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3d Hie YW H Ife PEN &1 7 % U 8 $IfSd f6a1 a1 5, DOG B 12 & T T Sifsd foal T1 g, Al STOP B ol difsd fba
f[EIT?

Options :

1. #* 35

2. % 36

3. % 37

4, ¥ 38

Question Number : 29 Question Id : 59445947000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5 girls are sitting on a bench. Pallavi is to the left of Mou and to the right of Oindrila. Ranu is sitting to the right of Neha but to the left of
Oindrila, Who is sitting in the middle?

Options :

1. # Ranu

2. # Pallavi
3. ¥ Qindrila
4. # Mou

Question Number : 29 Question Id : 59445947000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % X

2. % geadl

3. ¢ 3iEfear

4. % T3



Question Number : 30 Question Id : 59445947001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Six persons are sitting in a circle facing the centre of the circle. P is between B and N. A is between C and M. C is to the immediate left of B.
Who is to the immediate right of B?

Options :
1.¥P
2.% M
3. % N
4. % C

Question Number : 30 Question Id : 59445947001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.¥P
2. % M
3. % N
4. % C

Question Number : 31 Question Id : 59445947002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question one statement is given, followed by two conclusions, I and II. You have to consider the statement to be true even if it seems to be
at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statements 1 All pens are ink.
Statements 2 No ink is an eraser.

Conclusions I. No pen is an eraser.
Conclusions II. Some erasers are pens.



Options :

1. ¥ Only Conclusion I follows

2. % Only Conclusion II follows

3. # Either Conclusion I or II follows
4. # both I and II follow

Question Number : 31 Question Id : 59445947002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uy § T By fear mar 8, foge a1¢ gl s 1 3R 11 feu 7w § 1 3imues! 37 SUH &l I A1 8, YA 81 I8 IHId: J1d a3 fie
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Options :

1. ¢ had (=B | STERU BT ®

2. % Had BN 11 SR Hal §

3. % gy fsem 1 37 Sy 11 SRl R |
4. % 1 3R 11 GHI SIERUI HRd §

Question Number : 32 Question Id : 59445947003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question two statement are given, followed by two conclusions, I and II. You have to consider the statement to be true even if it seems to
be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statements 1 No month is a year.
Statements 2 No year is a second.

Conclusions I. All months are seconds.
Conclusions II. No second is month.



Options :

1. % Only Conclusion I follows

2. % Only Conclusion II follows

3. % Either Conclusion I or II follows
4. ¥ Neither I nor II follows

Question Number : 32 Question Id : 59445947003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

uy § gl pyY feu e g, f5ges a1¢ gl e 1 3R 11 fau U 81 3imueh! 37 HUA &l I A1 8, YA 81 I8 ITHId: J1d a2 3 e udid
Bl 3MTUD! T I 6 [ 4T Y F5h T & J DI 1, (S DIs 81 Al 14T T YT H I SIER0 PRl G|

HY | DI T aY TS B
HY 2 BIS aY TS TSI 8

fspY 1. it 7gH Y e g |

fr=p 1. I Jdbs AT TS R

Options :

1. % $Had FT5HY [ 3FIERU Sl §

2. % Had BN 11 IR0 Hl §

3. % gy fsem 1 37 Sy 11 SRl R |
4. % T 1 3R TG I SR BT §

Question Number : 33 Question Id : 59445947004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the wrong number in the following number series:

100, 96, 91, 85, 78, 70, 62, 51
Options :

1. ¥ 62

2. % 51

3. % 96



4. = 78

Question Number : 33 Question Id : 59445947004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeRaa e gadr o el TReAT 1d -

100, 96, 91, 85, 78, 70, 62, 51
Options :

1. ¥ 62

2. % 51

3. % 96

4. % 78

Question Number : 34 Question Id : 59445947005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which one is odd in the given series.

Qx, Di, Np
Options :
1. * Q
2. %1
3.%p
4. ¥ N

Question Number : 34 Question Id : 59445947005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& T e § H a1 favE B

Qx, Di, Np
Options :



1. %Q
2. % i
3.%p
4. ¥ N

Question Number : 35 Question Id : 59445947006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following diagrams best depicts the relationship between Professor, Author and Infants?
Options :

2. %




O

Question Number : 35 Question Id : 59445947006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad & & ®1F T 3R WeaTues, e 3R Rl & st & Jee B gy 331 guidr g2

Options :




O

Question Number : 36 Question Id : 59445947007 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many triangles are there in the figure given below?

Options :
1. ¥ 12
2. % 16
3.% 14
4. % 10

Question Number : 36 Question Id : 59445947007 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=ital &t 7€ frepfal H febe il 82



Options :
1.¥ 12
2. % 16
3. % 14
4. % 10

Question Number : 37 Question Id : 59445947008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the figure series.

AT
1

Options :

%
-/



Question Number : 37 Question Id : 59445947008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST fA 4T bl IR |

/s

O

Options :

1. %



+
2. %
3. %
E—
+
4. &

Question Number : 38 Question Id : 59445947009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the figure series.

[T
?

T

B B
Options :




Question Number : 38 Question Id : 59445947009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ®

2_J_|
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Question Number : 39 Question Id : 59445947010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
You are required to select the correct answer choice which is formed by folding the unfolded dice.




Question Number : 39 Question Id : 59445947010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3TUR] Jet IR fAhed BT T BT 8 Sl Tl Al 7T U &l Hig— J g7d1 8
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1 |

Options :

1. ¥

L
2. %

&
3. %

&
4, %




Question Number : 40 Question Id : 59445947011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the water image of the object given.

-\

L |

Options :

d




Question Number : 40 Question Id : 59445947011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 41 Question Id : 59445947012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the value of: V(16+V(60+\(408+V1089)))
Options :

1. % 2

2.% 3

3.% 4

4.5

Question Number : 41 Question Id : 59445947012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A 1A B3 V(16+V(60+V(408+V1089)))
Options :

1. %2

2.% 3

3.% 4

4. ¥ 5

Question Number : 42 Question Id : 59445947013 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the LCM of square of 4, cube of 3 plus 1 and the square of 6.



Options :
1. ¥ 1008
2. % 504
3. #2016
4. % 4032

Question Number : 42 Question Id : 59445947013 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

4% T, 3 SNE | BTYA 3R 6 P I BT AYTH FHIAAD 1A DY |
Options :

1. ¥ 1008

2. % 504

3. % 2016

4. % 4032

Question Number : 43 Question Id : 59445947014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A good costs Rs 12,000. A customer can choose either of the pairs of successive discounts. Pair A consists of successive discounts of 20% and
30% and pair B consists of 40% and 10%. Customer X chose pair A and customer Y chose pair B. Find the difference in their payment for the
good.

Options :

1. ®* Rs 60
2. % Rs 120
3. #* Rs 180
4. ¥ Rs 240

Question Number : 43 Question Id : 59445947014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TP I P AN 12,000 FUU ¢ | TH AEH HiHb He &b oits A I [t U &1 I99 HR Tahdl g | Shiat A T 20% 3R 30% 1 HiH Je &




aﬁvg@BﬁM%sﬁ?m%ﬁ@?%lmxﬁGﬁ?ﬁAﬁgﬂlsﬁ?ule?{Gﬁ?ﬁBﬁiﬁTlaﬁ%ﬁﬁmmmwwﬁa{m
RIS

Options :

1. % 60 30U

2. % 120 3T

3. % 180 ¥UT

4. ¥ 240 3UY

Question Number : 44 Question Id : 59445947015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the price of a mango is reduced by 10%, then X can buy 2 more mangoes for Rs 360. Find the reduced price of the mango.
Options :

1. % Rs 20

2. % Rs 19.20

3. ¥ Rs 18

4, % Rs 16.8

Question Number : 44 Question Id : 59445947015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS STH BT T 10% 4 HH BT A1 8, T X 360 YT H 2 SR 3T WG JhelT ¢ | 3T T G §31 Jod J1d B |
Options :

1. #® 20%UQ

2. % 19.20%UU

3. ¢ 18%UU

4. % 16.8%UU

Question Number : 45 Question Id : 59445947016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



An experiment requires a student to mix 3/8 units of a mixture in plain water. He instead mixes 8/3 units of the mixture with plain water which
leads to errors. Find his error percentage.

Options :

1. ¥ 611.11 percent
2. % 711.11 percent
3. % 311.11 percent
4. % 411.11 percent

Question Number : 45 Question Id : 59445947016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS T & o o3 &Y 1 uTt § 3/8 313 901 fHe=1 81| 98 39 aod fHeur &t 8/3 so1sdl &l I1e; urt & fifda &= a1 8 e
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Options :

1. ¥ 611.11 percent

2. % 711.11 percent

3. % 311.11 percent

4. % 411.11 percent

Question Number : 46 Question Id : 59445947017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A seller expects a profit of 25% on his selling price. If in a week, he bought goods worth Rs 12,000 and sold all of them, then what was his profit
for the week?

Options :

1. ¥ Rs 2,500
2. % Rs 3,000
3. ¥ Rs 4,000
4. % Rs 4,500

Question Number : 46 Question Id : 59445947017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

T faghal 30 fasha Hed R 25% & MY BT 3UET Hal ¢ | e U I8 H, 39 12,000 TUT BT A WRIaT 3R 39 9+t & o fea,
dl T8 & ol ST ATH T U1

Options :

1. % 2,500 3T

2. % 3,000 $TT

3. ¢ 4,000 UT

4. % 4,500 3T

Question Number : 47 Question Id : 59445947018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X sells a hard disk for Rs 5,000. His profit percent increases by 15% if he sells it for Rs 5,600. Find the cost price of the hard disk.
Options :

1. ¥ Rs 4,000

2. % Rs 3,600

3. % Rs 4,800

4. % Rs 4,500

Question Number : 47 Question Id : 59445947018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X BTS &% & 5,000 U H o915 | TS 98 3H 5,600 TUT H o=l § Al SUDT 1Y U= 15% H 9 ST 8 | BTS 8% Bl aNTd Hed 1d
Gy

Options :

1. ¢ 4,000 3T

2. % 3,600 STT

3. % 4,800 $UT

4. % 4,500 3T

Question Number : 48 Question Id : 59445947019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

A, B, C and D receive wages in the ratio of 3:5:8:12. If the difference between the wages of A and B is Rs 200, then find the difference between
the wages of C and D?

Options :

1. # Rs 300
2. ¥ Rs 400
3. % Rs 500
4. % Rs 600

Question Number : 48 Question Id : 59445947019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A,Bég(%eﬁ?Dﬁ&s:&lz%eﬂwﬁaa:rﬁaﬁT%IﬁAﬁ?B%éﬁ%ﬁﬂw&mzoow?{,?ﬁc 3R D & da & o9 BT 3R
AT dR?

Options :

1. % 300>

2. % 400 >Uq

3. % 500 ®%UUd

4. % 600U

Question Number : 49 Question Id : 59445947020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ages of X and Y 4 years ago were in the ratio of 7:8. Their current ages are in the ratio of 15:17. What will be the age of X 10 years hence?
Options :

1. # 17.5 years

2. % 35 years

3. % 52.5 years

4. % 70 years

Question Number : 49 Question Id : 59445947020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

499 Ugd X 3R Y BT 31 7:8 F U | Ut ST IdHM 3G 15:17 b AT H g1 10 Y &8 X B AT T I
Options :

1. % 17594
2. % 3594
3. % 52599
4. 70 T

Question Number : 50 Question Id : 59445947021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the compound interest on a principal of Rs 100 for 2 years at an interest rate of 200% per annum compounded half-yearly.
Options :

1. ¥ Rs 1,500

2. % Rs 1,250

3. ¥ Rs 1,000

4. % Rs 700

Question Number : 50 Question Id : 59445947021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

100 $UT & Yoo WR 2 IY & forg 3fef-arifes Tergla TR Ui a8 200% &1 &S & IR Tehgla SITST I1d B |
Options :

1. ¢ 1,500 ®UU

2. % 1,250 %40

3. % 1,000 ®UU

4. % 700%Uq

Question Number : 51 Question Id : 59445947022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

A principal of Rs 24,000 becomes Rs 40,560 in 2 years at a certain rate of compound interest per annum. Find the rate of interest.
Options :

1. # 20 percent

2. % 30 percent

3. % 25 percent

4. % 35 percent

Question Number : 51 Question Id : 59445947022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

24,000 FUY &1 AU Ufd I8 Tehgfg ST 1 (T G TR 2 I8 7 40,560 TUY & SRISR &1 ST & | TS &2 J1d By |

Options :

1. % 20 percent
2. % 30 percent
3. % 25 percent
4. % 35 percent

Question Number : 52 Question Id : 59445947023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A car of length 4 m crosses a pole in 0.08 seconds. Find the speed of the car.
Options :

1. ¥ 180 kmph

2. % 144 kmph

3. # 132 kmph

4. % 120 kmph

Question Number : 52 Question Id : 59445947023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

4 m e T BR 0.08 Jbg H TR Bl UR Hdl g | PR i Iid JTd B |




Options :

1. ¥ 180 kmph
2. % 144 kmph
3. % 132 kmph
4. % 120 kmph

Question Number : 53 Question Id : 59445947024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The speed of a boat downstream is 30 kmph and its speed upstream is 15 kmph. Find the speed of the stream.
Options :

1. ¥ 6 kmph

2. % 7.5 kmph

3. % 8 kmph

4. % 9 kmph

Question Number : 53 Question Id : 59445947024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T A1 P 1M SIUATE | 30 kmph € 3R SedUATE H SH! T 15 kmph & | 4RI BT 71T 1 B |
Options :

1. % 6 kmph

2. % 7.5 kmph

3. % 8 kmph

4. % 9 kmph

Question Number : 54 Question Id : 59445947025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X, Y and Z can do a job in 80, 120 and 160 days respectively. X and Y work together for 24 days and leave the job. In how many days can Z
complete the remaining job if his efficiency is halved?

Options :



1. # 120
2. ¥ 160
3. % 125
4. % 150

Question Number : 54 Question Id : 59445947025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X, Y 3R Z U BT B BHE: 80, 120 3R 160 fal H Y Fobd 1 X 3R Y 24 31 I Ueb 1Y 1 & § 3R 1 B ¢d &1 afe z Bt
HTIGH I ST B < S Y Z A B & fove =1 T I IR Tl 82

Options :

1. # 120

2. ¥ 160

3. % 125

4. % 150

Question Number : 55 Question Id : 59445947026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X 1s twice as efficient as Y and Y is 50% more efficient than Z. If Z alone can do the job in 90 days, then in how many days can all of them do
the job together?

Options :

1. ¥ 16.4 days
2. % 16 days
3. % 15.6 days
4. % 15 days

Question Number : 55 Question Id : 59445947026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X, Y 9 AT $RA § 3R Y, Z B g1 H 50% S H=IA 5| Afe 7 a1 39 B DI 90 &1 T X Thall &, al 9 9t firaes ol &t
fore a1 o ) T &2



Options :

1. ¢ 164
2. % 16feq
3. % 15.6fe
4. % 15f

Question Number : 56 Question Id : 59445947027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sphere of radius 90 cm is melted to form 3 smaller spheres of radius 45 cm, 60 cm and X cm. Find the value of X.
Options :

1. * 60 cm

2. % 70 cm

3.9 75 cm

4. % 80 cm

Question Number : 56 Question Id : 59445947027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

90 cm 01 & T T B FUGATDBR 45 em, 60 cm 3R X om 1 AT 3 BIS Ml AT T § | X T HMA J1d B
Options :

1. # 60 cm

2. % 70 cm

3.9 75 cm

4. % 80 cm

Question Number : 57 Question Id : 59445947028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A cylinder with radius 14 cm and height 21 cm has been reformed to form a cone with the same radius. Find the ratio between the area of the
base of the cylinder and the cone.

Options :



1. % 1:2
2.¥ 1:1
3. % 2:1
4. % 23

Question Number : 57 Question Id : 59445947028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

14 cm P51 3[R 21 em $HTE & Ueb e b1 YUR b GHM a1 dTefl Teb Vp ST 711 § | 90 3R R b SHTUR b &ABl o a1 bl
3{JUTd T B |

Options :

1. % 1:2

2.9 1:1

3. % 2:1

4. % 2:3

Question Number : 58 Question Id : 59445947029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The table shows the different expenditure of a firm in different years. In which year was the total expenditure the highest?

Particulars (in Rs)
Year
Purchases| Wages Rent Interest | Delivery
2016 1,00,000 1,40,000 1,60,000 80,000 80,000
2017 1,20,000 1,54,000 1,36,000 1,70,000 90,000
2018 1,60,000 1,20,000 1,44,000 1,46,000 1,20,000
2019 1,76,000 1,44,000 1,820,000 90,000 1,10,000
2020 2,00,000 1,60,000 1,12,000 80,000 1,320,000
Options :

1. % 2017



2. % 2018
3.4 2019
4. % 2020

Question Number : 58 Question Id : 59445947029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

dTferesT fafirst auf & Uer wH & fafte oaal &1 o1t 31 fore o & 3t oo e Sifdes Ut

5 favor ($uT )
TG ChE foemar | &= v

2016 1,000,000 1,40,000 1,60,000 80,000 20,000
2017 1,220,000 1,54,000 1,326,000 1,770,000 90,000
2018 1,60,000 1,20,000 1,44,000 1,46,000 1,20,000
2019 1,76,000 144,000 1,280,000 90,000 1,10,000
2020 2,00,000 160,000 1,12,000 80,000 1,30,000

Options :

1. ® 2017

2. % 2018

3.4 2019

4. % 2020

Question Number : 59 Question Id : 59445947030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The frequency polygon shows the percentage scored by a student in different years. What was his average score from the years 2017 to 2020?



Percentage Scored
3

2013 2014 2015 2016 2017 2018 2013 2020

Year

Options :

1. ¥ 73 percent
2. % 74 percent
3. # 75 percent
4. ® 76 percent

Question Number : 59 Question Id : 59445947030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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2013 2014 2015 2016 2017 2018 2015 2020
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Options :

1. % 73 percent
2. % 74 percent
3. # 75 percent
4. ® 76 percent

Question Number : 60 Question Id : 59445947031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The bar graph shows the number of boxes sold by a firm over the given period of time. In how many years, was the number of boxes sold more
than the average number of boxes sold in the period?
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Year
Options :
1. %1
2.2
3. %3
4. % 4

Question Number : 60 Question Id : 59445947031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IR U0 <} T3 THATa & U BH gRT 9 T §a91 &1 TeT & gRITdT & | fobd= auf &, o 7T Sa91 &t IReT, 39 3afd §f o T §a4] Bt
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Options :
1. %1
2.2
3.%3
4. % 4
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Question Number : 61 Question Id : 59445947032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofifed Uy §, IR el 7 9, 39 fahcu &1 9a7 &3 o feT U Tee & et I fade &1 faeu 81
foamer

Options :

1. % fUg +qx
2.« fUq +3Me™
3. % a7+ qu
4. % fUF + 3G

Question Number : 61 Question Id : 59445947032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafRed Uy |, IR fadwel 7 ¥, 39 fddhed &1 999 &3 o1 fGT U Weg & el Wi fowde &1 [ddwed gl




REIEYY
Options :

1. % fUg+qu
2. ¢ TUq +ame™
3. % fOar+ qu
4. % TUF + 3G

Question Number : 62 Question Id : 59445947033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad 8 IR el § 9, 39 e & 997 &3 S 3T U e 3 forw It fgr garg & fure &1 fdseu 81
3[4t

Options :

1. ¢ 313 I BT TG
2. % 318 3 T I
3. % 313 I

4. % 3T BT I

Question Number : 62 Question Id : 59445947033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofefad vy &, IR fawedl & Q, 39 fawen &1 9g9 &3 Sl 3T U e & forw T8t o] T & faure &1 faweu 711
33!

Options :

1. ¥ 313 371 &1 T8
2. % 316 3 T U
3. % 3o AT

4. % IS dI AT




Question Number : 63 Question Id : 59445947034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafad vy A, IR e & T, 39 fawey &1 79 B ol ST O 4 s BT ot [Abed 8|
Options :

1. % dgld

2. % TR

3. ¢ 3UD]

4. % Ufsars

Question Number : 63 Question Id : 59445947034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefed uy H, IR fdwedl 7 9, 39 fdwed &1 999 &% S ST T 94 Vet &1 ol f[dwed gl
Options :

1. % dgld

2. % TR

3. ¥ 3UD]

4. % dfsdrs

Question Number : 64 Question Id : 59445947035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFufafad vy 7, IR fawedl & 1, 39 faewey &1 T &3 1 foU 71U et H1 dagd FU gl
gfaarg

Options :
1. % Uddl
2. % UohdHd
3. # Udohl
4. ¥ TS




Question Number : 64 Question Id : 59445947035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafRed Uy H, IR fadwel 7 9, 39 fddhed &1 999 &2 o1 fGTU U Weg &1 dagd U Bl
gfaarg

Options :

1. % Qddl
2. % Upd+
3. % [dhl
4. ¥ TS

Question Number : 65 Question Id : 59445947036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed vy &, IR foeddl 7 9, 39 fdey &1 907 B3 o) AT 77U Teq; & Tafaare) Weq &1 Tg! fdwheu 8l § |

DI

Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.

Options :
1. gHdgd
2. 3T
3.-4MH
4. Difde

Question Number : 65 Question Id : 59445947036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofifad uy §, IR oweal 7 9, 39 faweu o1 97 &% Ot foT TN Yo & YTiaaTel Vet o1 ol fdwbed T8 5|




DI
Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.

Options :
1. gHdgd
2. 3T
3.-4MH
4. Difdel

Question Number : 66 Question Id : 59445947037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafad uy A, IR e & 3, 39 9wy &1 T B oY {3 e T a9 33T fAbed g |
3fa

Options :
1. AU
2. % 3fd
3. % gfd

4. % 3y

Question Number : 66 Question Id : 59445947037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy d, IR eeal 7 9, 39 fahca &1 987 & ot fAdiA Weg &1 a9 331 faheu g |
3fa

Options :
1. ¥ 3{cU



2. % 3[d
3, % 3fq

4. % 3y

Question Number : 67 Question Id : 59445947038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafad vy §, IR fawedl § T, 39 I8! faded o1 I B3 Sl Tl & ol U e o1 fadhed 8|

378 T UR¢, & [l XY T UTAD| bl Gh-arcl] HUS]
Options :

1. % 3RY

2. ¢ 3BR

3. % 389l

4. % JHNId

Question Number : 67 Question Id : 59445947038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR eedl 7 9, 39 I8! faped &1 T B3 Sl iR & ol Ueh Yo o1 fadb ey 8|

TS T IRe, & ol XY IT UTAD| &l gh-arel] HUS]
Options :

1. % 3RT

2. ¢ 3MER

3. % 3fe9

4. % 3INTd

Question Number : 68 Question Id : 59445947039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, aR fowedl & T, 39 UE! fawed &1 79+ &3 ot Rad I & ol Iugad Uss &1 el fdwe g |




e SaRI H Q69T & Ufd 3o+ AL GIES I G
Options :

1. % fqear

2. % Rgadn

3. ¢ SISl

4. % g

Question Number : 68 Question Id : 59445947039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, aR fawedl § T, 39 9! fawed &1 99 3 o e R & ol Iugad Wss &1 el fadwe 3|
Wd SRl H JTh-IWhTS & Ufd ga-1 3. R gadisam gl

Options :

1. % faRyeyd
2. % fgeAd

3. ¢ ST ahdl

4. % fga

Question Number : 69 Question Id : 59445947040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofeRad uy & IR fabedl & T, 39 f[9b ey &1 999 &Y oY faT TN Weg BT WifelT =4 arall fdbed g |
e

Options :

1. % AYRT
2. % YRy

3. % PRA
4. ¥ RIS



Question Number : 69 Question Id : 59445947040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy A, IR el 7 9, 39 fawcu o1 97 &% 9t T TN Yeg &1 TWiifelT U a1l fape g |
IR

Options :

1. % AURA
2. % YRy

3. % PR
4. & RS

Question Number : 70 Question Id : 59445947041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad uy o, aR fowedl & T, 39 fawey &1 999 &3 Sl fAU U Weg & S50 U &1 Ja 3] [ddhe g

Ik

Options :

1. % HUIBIT
2. % UGl
3. ¢ AATMUBN
4. % JeAIUD!

Question Number : 70 Question Id : 59445947041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ue o, TR fawel § 9, 39 fawed &1 7o &L S foU 1T Wesg & dgaeH U &1 Jad 331 fawed ]




SrATUHT

Options :

1. % HAUIBIY
2. % JAUHIl
3. ¢ AHIBTY
4. % eAUP

Question Number : 71 Question Id : 59445947042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

?aﬁr@au&rﬁ,awﬁwq‘fﬁ@r,w feb e o1 =T bR Sl HIFeh H AT 1Y Teg & SFTAR 37 &Y dTeich HA-TH BT Tad 37T fdebed
|

Options :

1. % (qHD!) gl I o1 31y

2. % () WM

3. ¢ (T8) WHM IR

4. % (JWRI) AH 182

Question Number : 71 Question Id : 59445947042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gmﬁf@au&rﬁ,wﬁm@fﬁ@r,wﬁwmwﬁa‘rﬁwﬁ%&ww%&aﬂwmwmﬂéﬂmmﬂaﬁmﬁw
I

Options :

1. % (qHDT) Tl I o1 31y

2. % (YN WS

3. ¥ (T8) HH TR g

4. % (JWRT) AH 182

Question Number : 72 Question Id : 59445947043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fAafeRad vy 9, IR fasedl B 9, 39 fdded &1 90 B ol faR19 fag gad a1 o1 Hal fddbed gl |
Options :

1. ¢ i< 1 TP TS Y BT, U6 3 I8-Uga "

2. % MI< A Th TSb Y Hel- 8T J I8A-Ugd Hal

3. % M A TH TSP A Hel, 8T U IgA-Usd Bl

4. % Mfd< 3 TH TSP I Hel, "8l J Igd-Ugd byl

Question Number : 72 Question Id : 59445947043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferRed Uy o, IR fadbedl # 4, 39 fadhed &1 90 D ol favH g ot aTe’d &7 Hal [dehed Bl
Options :

1. ¢ Tfd< 3 T b | e, "8l U Ig-Ugd by 1"

2. % Tfde < b Agh Y gl Te 3 T6-Uga bl

3. % Tfd=e o Ueb s b W $gl, I8! J F60-Usel N

4. % Tifd=< < e TTgb Y bgl, "T8I U 5 -Ugd hl"

Question Number : 73 Question Id : 59445947044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifad uy A, IR el A 9, 39 fadeu o1 97 &% Ot feu U deifad o1 gt 3 arerr fapea g |

Sl g WIdhT UdhdH -
Options :

1. % Ty 3T

2. ¢ gRAfdedr ¥ 3 faman
3. % 3{fAf¥d ufkomy

4. % T AT DT ST AT BT




Question Number : 73 Question Id : 59445947044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifad uy A, IR el 7 9, 39 faweu &1 97 &% &t feu U deifad o1 gt 3 arerr fapea g |

Sl g WIdhT UdhdH -
Options :

1. % Ty 3T

2. ¢ gRdfadHd ¥ 31U fe@ra
3. % 3{fAf¥d ufkomy

4. % &I AT DT ST AT BT

Question Number : 74 Question Id : 59445947045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frufefad vy &, IR fawedl B 9, 39 fawen &1 wga & S <1 112 geTa &1 ugt o arett fadweu 71

HoT ST BT -
Options :

1. % g HEH

2. % ygia g
3. ¢ dH HARAT

4. % g9l BT

Question Number : 74 Question Id : 59445947045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafiad we o, TR fowenl # 9, 39 fadhed &1 797 B S < 718 GgTdR &1 e 3 g [dhed g |

B T B -
Options :

1. % gUHGH




2. % ygHid g
3. ¢ T HARAT

4. % §9ig BT

Question Number : 75 Question Id : 59445947046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRed oy & o fawedl # 9, 39 fade &1 Tg9 &% ot &Y 718 YeTa &1 Ja! 3 arar fadwe ]

EEEINEEEEIE
Options :

1. % T BT

2. % YAUTEGHT

3. % U] HRAT

4. ¢ Ad IXH

Question Number : 75 Question Id : 59445947046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed Uy & aR fawedl § 9, 39 fadhed &1 9a9 &3 ol &1 718 JeTaX &1 Ja! o ara fadwed g

ECEIRERGIE

Options :

1. ® 9 g

2. % YUTSGHT

3. % IOl HIAT

4. ¢ 3Gd 99

Sub-Section Number : 2

Sub-Section Id : 5944592210
Question Shuffling Allowed : Yes

Question Id : 59445947047 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension



Questions : No
Question Numbers : (76 to 80)

T U T MR 3 91 5 Uy U TR § 1 39 I Y Yd e U R IR faded! H ¥ U U o1 Harad SR I |

mmﬁ@mﬁﬁwﬁzwmﬁ$mmﬂ%wm%|Wwﬁ%m@mmwawg@mw JAAR, HT
31T GIRT BT o1, T 311 Y&l HiHTelg: Tl o1 Gk A Sl | geehr diieh Ef¥apTor o= off g1 8| 31T R 3 TTE ) U
T HrS R 31 o g1, She, el &1 RIF Xd, HIexisdl 3R gaTs STl 3 o T & | Su-aT07 31 &1 ®IH §g d ald 1 Mierdl 3R
JFpe, RIS, TRATY] a4 YA 3 3 R 2 9k S SaR 19 ot Tienadl 5 TeRal & SR o1 1 3 AT Ue ikl &1 ®IH §gd §a
meﬁ@rm%a‘rnﬁa@rw&mw &AM & | YIS Tehal # YeR, UHR, 9RM, JRM 31 fav
IR €1 Y8R &1 Iua feeta faygg ﬁtﬂ?ﬂ-f@'GﬂlWaﬁ%ﬁ%%%ﬁ@ﬁ@%%%%ﬁwﬁ%
I Bt S Fbel! g | TG SIGTS 9 o @rw%a‘rw:@wwm|

Sub questions

Question Number : 76 Question Id : 59445947048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3TRE P SIUR 37U - D1 ST B g J W&l B & [ AT BT TdgR Yo d &yl 6T 82

Options :

1.« ol

2. % Udlg
3. % i

4. % AT

Question Number : 77 Question Id : 59445947049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
31T & g T o7 G aTd 3T g7
Options :

1. % U ef¥oiur &1 fdar

2. ¢ YD DIV U

3. % Sryfayrd efSepiom

4. % it g¥aior



Question Number : 78 Question Id : 59445947050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
VSR’ HT I T I 1 YT 82
Options :

1. % 39 & 18R o IrgA B R ST
2. % Pl o Ul arga= ot Rufd garm

3. ¢ 3 & o argaE &t fRufa Seen
4. % DT B IR ST

Question Number : 79 Question Id : 59445947051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

70 A DI - T UGS BT FHMRN Tee; 78T 82
Options :

1. % gRUTA

2. % YfgRY

3. % adH

4.« Al

Question Number : 80 Question Id : 59445947052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Y 3G BT Dl IuYad XMieh-
Options :

1. % 3TN & argaH

2. % TSR BT YN

3. ¢ 99 G DR

4. % Y& Ugt

Question Id : 59445947047 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No



Question Numbers : (76 to 80)

9 fou T e o 91 5 Uy AU TR § | 39 TR ®l AHge® g 3R 9R [a@w el B ¥ Udd Uy HT 9arad SR g |

3T R Bt TATSH 1 gRAA U & HRA P foTE TS W d ol 8T ] | Ui HIat H g & T Bia T a1 g Uu-a101, dAdR, I
3MfE GIRT BIAT T, TR 31T e e Tel o1 IS H SHUfIy I geas axas P10 SfuHm o1 6T 3 | 31Tl faq A ASTs 31 U
Tar AT fean g1 o g1l Sre, TSt ol I ¥a, Hiewmisdl 3R gaTs STaTel - o foran g | u-aT07 31fe &1 RIF §igdh g iy &t Mieral iR
RMdhe, TS d, URATY] JUT YA = o foran § iR 31 SR 1N &t Hiarsit & ueikal & 3faR 3imar g1 31a A-a Ughal &1 ™I §gd 84
d TifAd TeRal A o forar 8 S AMa ¥ Fal 31fie IonT, g 3R eidrar g | sMyfe Ugial & Y8R, YHR, TR, TRM 311 vy
G g | TSR &1 SuaNT fgclta faygs & R g 391 o g8 oft 8 o fonelt ot Yo O uep fAifad 85 & sier € argaH &1 fRufa
1A D1 S Tabell g | TS STeTol 39 o I q16R € ol Ul el av T Sl ehe |

Sub questions

Question Number : 76 Question Id : 59445947048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TG & ATUR 30 S P ATATSH BT AT U & HRA & [0 A BT HGER Ted HuT 8T 87

Options :

1. & golT]

2. % Udlg
3. % Hiffd

4. % @A

Question Number : 77 Question Id : 59445947049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3T & g H o1 S ald 31T g2
Options :

1. % YT D0 & fab™
2. ¢ YIS DB U
3. % 3rufayrdt =i

4. % Hifyd =P

Question Number : 78 Question Id : 59445947050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

VSR’ B =T Y F &1 Y417 72
Options :

1. % I & 18R o IrgA i R ST
2. % Pl & Y arga o1 T s

3. ¢ [T & o argaE &t Rufa Seen
4. % P BT GR&fM &1

Question Number : 79 Question Id : 59445947051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

10 A DI - 1 UL b1 FAFI Weg el 22
Options :

1. % gRUT

2. % JfagRl

3. ®# &M

4.« gl

Question Number : 80 Question Id : 59445947052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y ST Bl HIE IUYa Xep-
Options :

1. % 39 & arga™

2. % YR &1 WM

3. ¢ T4 gg HIRa

4. % YR Ut

General English



Group Number : 5

Group Id : 5944591073

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
General English

Section Id : 5944591885

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 16

Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 5944592211

Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 59445947053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

"If the Wizard was here," said/ one of the piglet, sobbing bitterly,/ "he would not see us suffer so."
Options :

1. * "If the Wizard was here," said



2. % one of the piglet, sobbing bitterly,
3. #* "he would not see us suffer so."
4. % No Error

Question Number : 81 Question Id : 59445947053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

"If the Wizard was here," said/ one of the piglet, sobbing bitterly,/ "he would not see us suffer so."
Options :

1. #* "If the Wizard was here," said

2. ¥ one of the piglet, sobbing bitterly,

3. # "he would not see us suffer so."

4. * No Error

Question Number : 82 Question Id : 59445947054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Inspired by other giant rock carvings such/ as the Mount Rushmore in South Dakota, / Mr. Stoddart has chosen a granite mountain.
Options :

1. # Inspired by other giant rock carvings such

2. ¥ as the Mount Rushmore in South Dakota,

3. % Mr. Stoddart has chosen a granite mountain.

4. % No Error

Question Number : 82 Question Id : 59445947054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Inspired by other giant rock carvings such/ as the Mount Rushmore in South Dakota, / Mr. Stoddart has chosen a granite mountain.
Options :

1. # Inspired by other giant rock carvings such

2. ¥ as the Mount Rushmore in South Dakota,

3. # Mr. Stoddart has chosen a granite mountain.

4. % No Error

Question Number : 83 Question Id : 59445947055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

An alien life form has arrived to earth and is jumping from body to body, (killing everything in it's path and stealing anything it cares about).
Options :

1. # killing anything in it's path and stealing anything it cares about

2. # Kills everything in it's path and stealing anything it cares to

3. ¥ Kkilling everything in its path and stealing anything it cares to

4. ® No correction required

Question Number : 83 Question Id : 59445947055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

An alien life form has arrived to earth and is jumping from body to body, (killing everything in it's path and stealing anything it cares about).
Options :

1. # killing anything in it's path and stealing anything it cares about

2. # kills everything in it's path and stealing anything it cares to

3. ¥ Kkilling everything in its path and stealing anything it cares to



4. # No correction required

Question Number : 84 Question Id : 59445947056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

As they stare in horror at the old house, the (cries suddenly ceases and the stoic hero peel of), his tires squealing on the gravel country road.
Options :

1. #* cries suddenly cease and the stoic hero peels of

2. % cries suddenly ceases and the stoic hero peels of

3. ¥ cries suddenly cease and the stoic hero peels off

4. # No correction required

Question Number : 84 Question Id : 59445947056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

As they stare in horror at the old house, the (cries suddenly ceases and the stoic hero peel of), his tires squealing on the gravel country road.
Options :

1. # cries suddenly cease and the stoic hero peels of

2. # cries suddenly ceases and the stoic hero peels of

3. % cries suddenly cease and the stoic hero peels off

4. # No correction required

Question Number : 85 Question Id : 59445947057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

They approached warily, as though the food might leap up and their gullets violently.




Options :
1. # frail
2. # sail
3. % assail

4. % curtail

Question Number : 85 Question Id : 59445947057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

They approached warily, as though the food might leap up and their gullets violently.

Options :
1. # frail
2. % gail
3. ¥ assail

4. % curtail

Question Number : 86 Question Id : 59445947058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

The primary cause of all this danger is the Arab world's endemic , corruption, poverty, and economic stagnation.

Options :

1. ¥ despotism
2. # occultism
3. # autism

4. % achromatism

Question Number : 86 Question Id : 59445947058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Fill in the blank with the most appropriate choice

The primary cause of all this danger is the Arab world's endemic , corruption, poverty, and economic stagnation.
Options :

1. ¥ despotism
2. ®* occultism
3. # autism

4. % achromatism

Question Number : 87 Question Id : 59445947059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Those movies wanted

P. figure but she

Q. a Pre-Raphaelite
R. us to see her as
S. verged on a

Walter Keane waif.
Options :

1. # RPSQ

2. % RQSP

3. % RQPS

4. % RSPQ

Question Number : 87 Question Id : 59445947059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.



Those movies wanted

P. figure but she

Q. a Pre-Raphaelite
R. us to see her as
S. verged on a

Walter Keane waif.
Options :

1. # RPSQ

2. % RQSP

3. % RQPS

4. % RSPQ

Question Number : 88 Question Id : 59445947060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below

Veritable
Options :

1. % Vociferous
2. ¥ Genuine
3. % Impugn
4. #® Latent

Question Number : 88 Question Id : 59445947060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below

Veritable
Options :

1. # Vociferous



2. % Genuine
3. # Impugn
4. % Latent

Question Number : 89 Question Id : 59445947061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

Soporific
Options :

1. % Stimulant

2. % Opiate

3. # Tranquillizer

4. % Hypnotic

Question Number : 89 Question Id : 59445947061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

Soporific
Options :

1. ¥ Stimulant

2. # Opiate

3. # Tranquillizer

4. % Hypnotic

Question Number : 90 Question Id : 59445947062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :



1. ¥ maraud
2. * maroud
3. ® moraud

4. * moroud

Question Number : 90 Question Id : 59445947062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ maraud

2. # maroud

3. # moraud

4. % moroud

Question Number : 91 Question Id : 59445947063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ playwright

2. % playright

3. % playwrite

4. % playwrit

Question Number : 91 Question Id : 59445947063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ playwright

2. % playright



3. % playwrite
4. # playwrit

Question Number : 92 Question Id : 59445947064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

You are what you eat

Options :

1. ¥ In order to stay healthy you must eat healthy foods.
2. % Everything. All of it.

3. ® There are two choices and you have them both.

4. % Tt is your decision this time.

Question Number : 92 Question Id : 59445947064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

You are what you eat

Options :

1. ¥ In order to stay healthy you must eat healthy foods.
2. % Everything. All of it.

3. # There are two choices and you have them both.

4. # It is your decision this time.

Question Number : 93 Question Id : 59445947065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Your guess is as good as mine



Options :

1. #® To do it all over again from the beginning.

2. % The exact likeness or kind.

3. ¥ [ have no idea.

4. ® Detecting that something isn't right and there might be a reason for it.

Question Number : 93 Question Id : 59445947065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Your guess is as good as mine

Options :

1. # To do it all over again from the beginning.

2. # The exact likeness or kind.

3. ¥ [ have no idea.

4. # Detecting that something isn't right and there might be a reason for it.

Question Number : 94 Question Id : 59445947066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

Marked by a lack of civility or graciousness; difficult to work with
Options :

1. ¥ Churlishness

2. # Acronym

3. # Halcyon

4. ¥ Acumen

Question Number : 94 Question Id : 59445947066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate 'one word ' for the expressions given below

Marked by a lack of civility or graciousness; difficult to work with
Options :

1. ¥ Churlishness

2. % Acronym

3. % Halcyon

4. % Acumen

Question Number : 95 Question Id : 59445947067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

The study of human races
Options :

1. * Ergonomy

2. % Ethnology

3. ¥ Pedagogy

4. % Ethology

Question Number : 95 Question Id : 59445947067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

The study of human races

Options :

1. ¥ Ergonomy

2. ¥ Ethnology

3. # Pedagogy

4. % Ethology

Sub-Section Number : 2



Sub-Section Id : 5944592212
Question Shuffling Allowed : Yes

Question Id : 59445947068 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)
Read the passage carefully and choose the best answer to each question out of the four alternatives

Persuasion is the art of convincing someone to agree with your point of view. According to the ancient Greek philosopher Aristotle, there are
three basic tools of persuasion: ethos, pathos, and logos.

Ethos is a speaker’s way of convincing the audience that she is a credible source. An audience will consider a speaker credible if she seems
trustworthy, reliable, and sincere. This can be done in many ways. For example, a speaker can develop ethos by explaining how much experience
or education she has in the field. After all, you would be more likely to listen to advice about how to take care of your teeth from a dentist than a
firefighter. A speaker can also create ethos by convincing the audience that she is a good person who has their best interests at heart. If an
audience cannot trust you, you will not be able to persuade them.

Pathos is a speaker’s way of connecting with an audience’s emotions. For example, a speaker who is trying to convince an audience to vote for
him might say that he alone can save the country from a terrible war. These words are intended to fill the audience with fear, thus making them
want to vote for him. Similarly, a charity organization that helps animals might show an audience pictures of injured dogs and cats. These images
are intended to fill the viewers with pity. If the audience feels bad for the animals, they will be more likely to donate money.

Logos is the use of facts, information, statistics, or other evidence to make your argument more convincing. An audience will be more likely to
believe you if you have data to back up your claims. For example, a commercial for soap might tell you that laboratory tests have shown that
their soap kills all 7,000,000 of the bacteria living on your hands right now. This piece of information might make you more likely to buy their
brand of soap. Presenting this evidence is much more convincing than simply saying “our soap is the best!” Use of logos can also increase a
speaker’s ethos; the more facts a speaker includes in his argument, the more likely you are to think that he is educated and trustworthy.

Sub questions

Question Number : 96 Question Id : 59445947069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Aristotle was philosopher from ?
Options :

1. ¥ Greece

2. * Rome

3. * Italy

4. * Spain



Question Number : 97 Question Id : 59445947070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not an attribute of Logos?
Options :

1. # Facts

2. % Statistics

3. % Information

4. ¥ Credibility

Question Number : 98 Question Id : 59445947071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following option is incorrect? Choose one option.

Options :

1. ¥ A speaker can develop Lagos by explaining how much experience or education she has in the field.

2. # Pathos is a speaker’s way of connecting with an audience’s emotions.

3. # Logos is the use of facts, information, statistics, or other evidence to make your argument more convincing.

4. # Ethos is a speaker’s way of convincing the audience that she is a credible source

Question Number : 99 Question Id : 59445947072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a speaker’s way of connecting with an audience’s emotions.

Options :

1. ¥ Pathos
2. % Ethos
3. % Kairos
4. % Logos

Question Number : 100 Question Id : 59445947073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



According to Aristotle, which of these is not a basic tool of persuasion?
Options :

1. % Ethos

2. % Pathos

3. % Logos

4. ¢ Kairos

Question Id : 59445947068 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)
Read the passage carefully and choose the best answer to each question out of the four alternatives

Persuasion is the art of convincing someone to agree with your point of view. According to the ancient Greek philosopher Aristotle, there are
three basic tools of persuasion: ethos, pathos, and logos.

Ethos is a speaker’s way of convincing the audience that she is a credible source. An audience will consider a speaker credible if she seems
trustworthy, reliable, and sincere. This can be done in many ways. For example, a speaker can develop ethos by explaining how much experience
or education she has in the field. After all, you would be more likely to listen to advice about how to take care of your teeth from a dentist than a
firefighter. A speaker can also create ethos by convincing the audience that she is a good person who has their best interests at heart. If an
audience cannot trust you, you will not be able to persuade them.

Pathos is a speaker’s way of connecting with an audience’s emotions. For example, a speaker who is trying to convince an audience to vote for
him might say that he alone can save the country from a terrible war. These words are intended to fill the audience with fear, thus making them
want to vote for him. Similarly, a charity organization that helps animals might show an audience pictures of injured dogs and cats. These images
are intended to fill the viewers with pity. If the audience feels bad for the animals, they will be more likely to donate money.

Logos is the use of facts, information, statistics, or other evidence to make your argument more convincing. An audience will be more likely to
believe you if you have data to back up your claims. For example, a commercial for soap might tell you that laboratory tests have shown that
their soap kills all 7,000,000 of the bacteria living on your hands right now. This piece of information might make you more likely to buy their
brand of soap. Presenting this evidence is much more convincing than simply saying “our soap is the best!” Use of logos can also increase a
speaker’s ethos; the more facts a speaker includes in his argument, the more likely you are to think that he is educated and trustworthy.

Sub questions

Question Number : 96 Question Id : 59445947069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Aristotle was philosopher from ?
Options :

1. ¥ Greece



2. % Rome
3. # Jtaly
4. ® Spain

Question Number : 97 Question Id : 59445947070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not an attribute of Logos?
Options :

1. #® Facts

2. % Statistics

3. # Information

4. ¥ Credibility

Question Number : 98 Question Id : 59445947071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following option is incorrect? Choose one option.

Options :

1. ¥ A speaker can develop Lagos by explaining how much experience or education she has in the field.

2. % Pathos is a speaker’s way of connecting with an audience’s emotions.

3. % Logos is the use of facts, information, statistics, or other evidence to make your argument more convincing.

4. ® Ethos is a speaker’s way of convincing the audience that she is a credible source

Question Number : 99 Question Id : 59445947072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a speaker’s way of connecting with an audience’s emotions.

Options :

1. ¢ Pathos
2. #® Ethos
3. # Kairos
4. % Logos



Question Number : 100 Question Id : 59445947073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to Aristotle, which of these is not a basic tool of persuasion?

Options :

1. % Ethos
2. % Pathos
3. % Logos
4. ¢ Kairos
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Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1
Sub-Section Id : 5944592213
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 59445947074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which process of cognitive development refers to retention and recall of perceived information?
Options :

1. ¥ Memory

2. % Attention

3. ® Perception

4. * Insight

Question Number : 101 Question Id : 59445947074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IFTHD [ABTH BT HI Il UfchaT HIAT AFBRI Bl TN IW 3R TS B Dl Jaid Bl g2

Options :
1. ¢ Fid
2. % &4
3. % 3HdIH

4, % 3fdem®

Question Number : 102 Question Id : 59445947075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which stage of psycho-social development is between three to six years of age that is characterized by the crisis of initiative versus guilt?
Options :

1. * Second stage
2. % Third stage



3. # Fourth stage
4. # Fifth stage

Question Number : 102 Question Id : 59445947075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T-IrATRTS 3 &1 i 1 g iF 3 38 a¥f &1 31 & s 8idT & o Ued a1 SiRIyaY & Jobe ! [IwdT 82
Options :

1. % IR RIgTd

2. ¢ AR Ry

3. % o7 RigTa

4. % Ugdi g

Question Number : 103 Question Id : 59445947076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mention the stage that is characterized by the development of language and rapid conceptual development.
Options :

1. % Formal Operational Stage

2. % Concrete Operational Stage

3. ¥ Pre-operational stage

4. % Sensory Motor Stage

Question Number : 103 Question Id : 59445947076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I RIGT 1 I B o HINT & fadr SR oI daTies fasr &t faRivar g |
Options :

1. % 3 dfhard® Rigra

2. % Tq Afhards Rigr

3. ¥ qd-dfharas Rigm




4. % Hafde ULy Rigr

Question Number : 104 Question Id : 59445947077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name the stage of Sigmund Freud's psychosexual development in which Oedipus complex is developed.
Options :

1. #® Genital stage

2. % Oral Stage

3. # Anal stage

4. ¥ Phallic stage

Question Number : 104 Question Id : 59445947077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RAHE WS & AR A & 39 RigT &1 911 Jars ford sfaud F-rify fasRa siar g
Options :

1. % ST AT (SIHed Lol

2. % IR 3aRIT (3R W)

3. % A Wl

4. ¢ BIicih LSl

Question Number : 105 Question Id : 59445947078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SUPW stands for?

Options :

1. ¥ Socially Useful and Productive Work
2. # Secondary and Upper Primary Work
3. # Socially Useful and Practicing Work
4. % Secondary Utility Project Work



Question Number : 105 Question Id : 59445947078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SUPW &1 Ul UU= T 62

Options :

1. ¢ iR o d TS Uisfdea ad
2. % bl TS SR UgHI] Icb

3. % Wi gope s Ufeefin ah
4, % Jbd gfeferd! Ueiae adb

Question Number : 106 Question Id : 59445947079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

also known as Meaningful Verbal Learning, involves internalization of the material presented to the learner, which takes place
through Progressive Differentiation and Integrative Reconciliation.

Options :

1. # Rational Learning

2. # Reciprocal Learning
3. #® Progressive Learning

4. ¥ Reception Learning

Question Number : 106 Question Id : 59445947079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&1 3rfgul Mg SHTH & Tu & ot ST S ], s fRremelf & veqa anwh &1 siaReas<un wnfia g, St umfasita deuma
3R THIgd GHTYH & AW J gl g |

Options :

1. % GHId TH

2. % TRWNG RIG) SR
3. % gafa=iter Sffymy

4. ¢ IRIEUT ST




Question Number : 107 Question Id : 59445947080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which type of thinking is careful and deliberate determination of whether to accept, reject, or suspend judgment?
Options :

1. ¥ Critical thinking

2. % Reflective thinking

3. # Abstract thinking

4. # Logical thinking

Question Number : 107 Question Id : 59445947080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fg gepR &1 feia i &) TR &1, SRAGR FHA 1 Fafad H1 & TR J Wau™ iR TR € Yohed 8?2
Options :

1. ¢ 3T HD faq

2. # foueff fias

3. % 3d ffaH

4. % gHgq fiaH

Question Number : 108 Question Id : 59445947081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Read the following statement and select appropriate option regarding the truthfulness.

Statement I - The mode of distribution is commonly understood as the arithmetic average.
Statement II - In Median, the distribution the half of the values lies below and above the midpoint.

Options :

1. # Both Statements are False
2. % Only Statement I is True
3. % Only Statement II is True



4. % Both Statements are True

Question Number : 108 Question Id : 59445947081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRed Hul &1 ufey SR Tadl & ey § SUged f[dded &1 99 SifoTg |

HYF | - IR0 & T BT IR TR SHHOT 3id & =Y H JH S 3|
HY 11 - AT H, faaRor &1 sem 719 Aegfag & i 3R W BT g

Options :

1. % g HYT 3T 8
2. % FAAHYT I II B
3. HIABYT I TA ©
4. % N PYTIT G

Question Number : 109 Question Id : 59445947082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which type of method rote memory is being encouraged among the students as a result of which they do not become self-independent?
Options :

1. # Direct experience approach

2. % Process approach

3. # Inductive approach

4. ¥ Deductive approach

Question Number : 109 Question Id : 59445947082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faenfial 7 for wpR @t e TR ) dgrar foar o et &, R @ sirefR Agt g ura g2
Options :

1. * Y& HJHd SUNTH

2. % Ufehar IUNTH



3. % JNTHATED SUNTH
4.« FITHATES UM

Question Number : 110 Question Id : 59445947083 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

validity requires that the curriculum promotes the values of honesty, objectivity, co-operation, freedom from fear and prejudice and
develop in the learner a concern for life and preservation of environment.

Options :

1. ¥ Ethical

2. % Environmental
3. # Historical

4, % Process

Question Number : 110 Question Id : 59445947083 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

QYT P TARAHI | o UTSIHH SHHGRY, e, TganT, 4 3R Yaiie I gfad & Jedl &1 9a1a1 oal & 3R fRremff & sfiam
3R TRTARUT & TR&fUT & fore fefelt &1 fadw axan 8

Options :

1. ¢ Afd®

2. # qgiauuig
3. % Ufagiiie
4. % Ylchar

Question Number : 111 Question Id : 59445947084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name the structure of science that follows the law of parsimony, open to interpretation & verification.
Options :

1. # Facts

2. % Theory



3. % Concepts

4. % Generalisation

Question Number : 111 Question Id : 59445947084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR BT I TR HT 19 FART SN URIHF & 99 &1 Urer St 6, Fdad SR Jam= & fae geft 5|
Options :

1. % qf

2. ¢ Rigid

3. ® H{AYRUI

4. % JATIIHIT

Question Number : 112 Question Id : 59445947085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the support provided by an expert to a novice in initial stage of learning.
Options :
1. # Assimilation
2. % Zone of Proximal Development
3. ¥ Scaffolding

4. % Peer learning

Question Number : 112 Question Id : 59445947085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR & URIYS =01 & Faciiard o RIS GRT UG o1 o aTel! Jeradl ¢ |
Options :
1. % 3fTHIBUT

or o

2. % Apeadf fae™g &1 87

3. ¢ WHhIfeET




4, % TgHHT TR

Question Number : 113 Question Id : 59445947086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which word is usually used to refer to a generalisation that is still a conjecture and has to be either proved to be true, or shown to be false by
means of a counter example?

Options :

1. # Fallacy

2. % Generalisation
3. % Assumption
4. ¥ Hypothesis

Question Number : 113 Question Id : 59445947086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RS0 & T o AR TR for Wsg o1 WanT favar oirar g ot 3ift off uep 31 § SR o ar df g wifad foran i &, an faodia
SETERUT & AT U e feam ST 82

Options :

1. % g ad

2. % GRS

3. % DUl

4, « RSB

Question Number : 114 Question Id : 59445947087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Read the following statement and select appropriate option reagrding the truthfulness.

Statement I -The social studies carry a normative responsibility to create and widen the popular base for human values, namely freedom, trust,
mutual respect for diversity.

Statement II - Social science has a practical base regarding the utility of education which could be meaningful and necessary for society. It has a
wider range of action.



Options :

1. % Only Statement II is true
2. % Only Statement I is true
3. ¥ Both statements are false

4. ¥ Both statements are true

Question Number : 114 Question Id : 59445947087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafaRed Hu! &1 ufeq SR Tl & ey § SUged [dded &1 99 BifoTg |

HY [ - JrHTOID FT- AT A & T Ah O YR, S =T, M fayr, fafduar & forw smuht Iwa= Y §9M 3R AU
§H & U A& fSHeR ad 6 |

HY 11 - e o STTRar & &y H Qi [ o1 T AR YR g S JHTS & g wrdfes 3R 3o g1 9abdl g | 9H
HRATE HI fagd YT 3|

Options :

. % HIAPYT 1 II g

2. % FAAHYT I II B

3. % F HYT 3T §

4. ¥ TN HYTIT G

Question Number : 115 Question Id : 59445947088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The interrelationships among the basic elements within a larger structure enables them to function together. Which type of knowledge is this?
Options :

1. # Factual knowledge

2. # Metacognitive knowledge

3. % Procedural knowledge

4. ¥ Conceptual knowledge

Question Number : 115 Question Id : 59445947088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TP §9 e & Hiar R aal & i siadfey 3= U WY &1 v T Wed §-1dT1 3 | I8 fohd TR &1 I /2
Options :

1. % qTHS I

2. % JGIHTHSD I

3. % Yfhards I

4. ¢ RSP I

Question Number : 116 Question Id : 59445947089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which type of curriculum learning is spread over time rather than being concentrated in shorter periods?
Options :

1. ¥ Spiral curriculum

2. % Co-ordination curriculum

3. # Correlation curriculum

4. ¥ Integrated curriculum

Question Number : 116 Question Id : 59445947089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5T UeR & UreTaat § T BT afdal & Higd g & I IH7y & 1Y eldl 82
Options :

1. ¢ T UTGUhH

2. % gH9Y UTaUshH

3. % ggddy UTedshH

4. % UPhldd Uadshy

Question Number : 117 Question Id : 59445947090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Name the research that is a descriptive and involves describing and interpreting events, conditions, circumstances or situations that are occurring
in the present.

Options :

1. # Portfolio
2. ¥ Case study
3. % Surveys

4. #® Questionnaire

Question Number : 117 Question Id : 59445947090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gﬂ?ﬁ“dmﬂu—l FAISU Sl JUMHTHS § 3R 398 g7 § g9 arelt gereit, Rufaat, uRfRufaat ar fRufaal &1 9ui= iR aren 31 2nfia
|

Options :

1. % OQIwmIferar
2. ¢ &Y AT
3. % A&

4, % gYIdat

Question Number : 118 Question Id : 59445947091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
18/ 9IF 31eaTu ST Bl & dl 98 5T 91d &1 @ Radr g2
Options :

1. ® FHefl e WA Bl

2.« TGl Bl 3HF T 31fs U
3. % D U el ¥ Sral Ugl g

4. % Seg I Sleg UT6IhH B TH I AP

Question Number : 118 Question Id : 59445947091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fR1&/ S 311U BRI BT ¢ Al 98 fob g 910 BT &4 Ga1 22
Options :

1. % Hef Seal WA &l

2. ¢ TGl Bl S T 3 TH
3. % Hefl 4 Il Y SUTE Ugl Job

4. % Seg I Sleg UIGdhH & TH I AP

Question Number : 119 Question Id : 59445947092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIYT T 98 WY fSTehT TagR YR ST U THg! a1 ORI & Bl 5, I T Hed 82
Options :

1. % URMAET T

2. % fqa=it yr

3. dal

4. % di

Question Number : 119 Question Id : 59445947092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YIS &1 98 WY o] SIagR YR ST 30 THg! a1 IRI & HRll §, 3 T Hed 82
Options :

1. % gRMART e

2. % fad=it

3. ¢ didt

4. ® diH]

Question Number : 120 Question Id : 59445947093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



“FAD D1 ARG Sifad! Fadl & IR g 81 “Tg e HUH 82
Options :

1. ¥ gdlPb

2. % b

3. % I

4. % WA

Question Number : 120 Question Id : 59445947093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“FTAD B1 ARG Sl Fadl & IR gidt 81 “J8 e Hua ]2

Options :
1. ¥ gD
2. % b
3. % U
4. % @A
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Enable Mark as Answered Mark for Review and Clear Response : Yes
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Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 59445947094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 T T 1 Ut o1 & Hew ¥ W fid &1 faded 81 /2

Options :

1. % 76 oM HR o 3 18 & THg a1 Wfad &1 sad gl @

2. % TS Ao R o 3 FRIeid Fef wer T SR &1 THW B ot ! ¥ R B Ihdl §
3. % U716 Ao & gR1 R1emr Hd &) gH1aqul U6 ae SR ST Il §

4.« U7 TAIH o o e Fefn-dwe § IR SMAfayr § e o 98} o Tbar g

Question Number : 121 Question Id : 59445947094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 & O o1 Ure Ao & Hed § Iid &1 faded T8 82

Options :

1. % 16 o1 R A 3 R1eies & qHg quT fdd &) g9d gl 8

2. % TG Ao R o 3 FRI&® FHefl Hef § SR &1 THR B ot T ¥ g B Dbl §
3. % 76 faoH & gR1 Rieivr w1 &1 yyTaquf ud e 91T S 9l §

4. TS FSH IR o 3 TR1ed Het-dwe B R ey I Rien wrf 781 H= 9 g




Question Number : 122 Question Id : 59445947095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fopaft cafaq, avq, geT Srar Ufhal B THR IUP deR & AU B Uil BT 71 Had &2

Options :

1. ¢ 3[ddid db-1P
2. % GREU db-ih
3. % gaut aeid

4. % Q-3 dH-i1h

Question Number : 122 Question Id : 59445947095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foreit safda, I, e S1YaT Ufeha &l TR 3T TIER & AU HI A B 31 Had 82

Options :

1. ¢ QD dhIP
2. % URE&U dh-ldh
3. % gad ddb-idp

4. % W-3RAT dh1H

Question Number : 123 Question Id : 59445947096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Read the following statement and select appropriate option regarding truthfulness.

Statement I: Approach is General, it emphasizes on planning strategy.
Statement I1: Method is specific, it emphasizes on technique in class.

Options :

1. % Only Statement II is true
2. % Only Statement I is true
3. # Both statements are false

4. % Both statements are true



Question Number : 123 Question Id : 59445947096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad &= & ufeu oiR Tdrar & ey # Iugad fadhed &1 79 S|

HYF 1: SUTTH ITH 8, T AT 01T IR SR ST gl
B 11: fafY fAfY B, I8 Fam H dohild W SR ST B

Options :

|. % HIAPYT N II &
2. % HITHYT I II @
3. % I HYT A S
4. ¢ AN HYTIA G

Question Number : 124 Question Id : 59445947097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which step in a lesson plans are short activities designed to get students ready for the main lesson?
Options :

1. ¥ Warmers

2. % Review

3. # Practice

4. % Production

Question Number : 124 Question Id : 59445947097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T3 AISHT & DI F TR H BHE| &I A U716 7 TR B & AU TR H1 T8 Bict Miafafdar g2

Options :

1.« g
2. % geter (Rey)
3. % 3NN




4, % 3dlg

Question Number : 125 Question Id : 59445947098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a range where language may be bound to discussion and modification.
Options :
1. # Inclusive Education
2. ¥ Disability
3. # Disease
4. ¥ Malady

Question Number : 125 Question Id : 59445947098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ot 8 STgt UTWT == 3R HRNeH & AT a1ed 81 avett o
Options :
1. % goTaRy fRrem
2. ¢ fasbaiTar
3. % [
4, % RIS

Question Number : 126 Question Id : 59445947099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which policy advocated integrated education in general school for locomotor impaired children, mildly disabled children and special education
to the severely handicapped children?

Options :

1. # District Institution of Education and Training

2. # Integrated Education of Disabled Children

3. # Inclusive Education of the Disabled at Secondary Stage
4. ¥ National Policy on Education



Question Number : 126 Question Id : 59445947099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Mﬂﬁﬁﬂﬁ‘é’ﬂaﬁﬁ,u@wﬁﬁwﬁﬁ%ﬁmwﬁwﬁ@%ﬁmﬁﬁﬁ@ﬁﬁmw@ﬁwﬁﬁaﬁ
faRy fRef 1 aehTerd H1 718 82

Options :

1. % forer fRrem ud wiRneron Jwim

2. % faoheliv Sl DI Tebidpd fRI&T

3. % HIAfHe WR R [Ghei ot FHTa fRaf

4.« & R AP Aifd

Question Number : 127 Question Id : 59445947100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
means impaired vision in one eye due to lack of its use in early childhood.
Options :
1. ¥ Amblyopia
2. % Cataract
3. #® Trachoma

4. % Glaucoma

Question Number : 127 Question Id : 59445947100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
o1 372 § S0 T 3P SUTUNT Bl B & HRUT TP 3G H gad €D & |
Options :
1. ¥ HaEl®
2. % Hifqaride
3. % g
4. % Didfeg



Question Number : 128 Question Id : 59445947101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

People with which type of hearing loss need cochlear implants to gain access to the spoken word and sound in the environment?
Options :

1. # Conductive hearing loss

2. ¥ Sensorineural hearing loss

3. % Mild hearing loss

4. ®% Moderate hearing loss

Question Number : 128 Question Id : 59445947101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

for TR & Haul g1 aTcl AT 1 TTaR0T § &t U eg 3R @ 0% Ugd U 3 & Q1T HUTiad TRl HI STa=adhdl gl 87
Options :

1. % YdIgh g Yaul g1

2. ¢ GadIArafd® yaur g1v

3. % g 4qu gl

4. % LY YqUT gTIA

Question Number : 129 Question Id : 59445947102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which sensory system provides the leading contribution about the sense of balance and spatial orientation for the purpose of co-ordinating
movement with balance?

Options :

1. # Malleus
2. # Incus

3. % Cochlea
4. ¥ Vestibular



Question Number : 129 Question Id : 59445947102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I T FAFET Ao & T T & TH-GT & I ¥ Igad MR RiIfd NG &t UiaT & TR H UHE TRTeH U Sl 82
Options :

1. % Afeag

2. % 3

3. % HUIGT (P3N

4. ¢ AREYR

Question Number : 130 Question Id : 59445947103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The student reads a paragraph or story and must interpret what has been read. Which type of comprehension is this?
Options :

1. ¥ Inferential

2. % Literal

3. # C(ritical

4. % Affective

Question Number : 130 Question Id : 59445947103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BT Th IRTTE T S Uedl & 3R Sl UeT 7T & ISP T B3 a1fl | T8 fobg UpR o1 iy 32
Options :

1. ¥ SATHS (Fhfesa)

2. % Mfeqd

3. % 3TerHTHD

4. % H[dIHD

Question Number : 131 Question Id : 59445947104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Children with which type of dyslexia are able to sound out individual letters phonetically but have trouble identifying patterns of letters in
groups?

Options :

1. # Deep Dyslexia

2. ¥ Dyseidetic Dyslexia

3. % Direct Dyslexia

4. # Dyseidesia Dyslexia

Question Number : 131 Question Id : 59445947104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Siu fexifaaan

2. ¥ SHRiSes fewafaaan

3. % SRNGC [SxifRan

4. % SIS fExifoaan

Question Number : 132 Question Id : 59445947105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

is the learning disability associated with spelling and individuals with this disorder have difficulties utilizing clues from several
sources that aid in deciding on the correct spelling of a word.

Options :

1. # Spatial dysgraphia
2. % Dyslexic dysgraphia
3. ¥ Dysorthographia

4. % Motor dysgraphia

Question Number : 132 Question Id : 59445947105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

a1 § ST ST 3i&HdT B 3R 39 PR ard fekaal &l 3 Tl I JRIT BT STTNT R H Hig-TS gl 3 off fpt Weg
B TEI a1 F0fT O H FeTdT BRd B
Options :
1. % Wrfesrd feamnftear
2. % fexifeaess feanftar
3. ¢ SRR
4. % TR fganftean

Question Number : 133 Question Id : 59445947106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a virus infection of the Anterior Horn Cells in the brain stem and spinal cord resulting into temporary or permanent paralysis.
Options :
1. # Spina Bifida
2. # Meningocele
3. % Myelocele
4. ¥ Poliomyelitis

Question Number : 133 Question Id : 59445947106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT T 3R S5 &1 531 A TaPbId 81+ BIRABT3N BT aRY ThHUT § fordes TRUMREGET SR a1 Rt gemard gidr 8 |
Options :
1. % i fofthet
2. % AT
3. % AN
4. v DR

Question Number : 134 Question Id : 59445947107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Name the type of leadership that is also known as managerial leadership and in which leaders promote compliance by followers through both
rewards and punishments.

Options :

1. * Dictator leadership

2. % Transformational leadership
3. # Laissez-faire leadership

4. ¥ Transactional leadership

Question Number : 134 Question Id : 59445947107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I UHR & Add BT 14 Id13U o Ty g & FU & Hf ST S 8 8RR Aar Sl R IR 3R &8 g & A1y
3FUTE B! §TaT &d B

Options :

1. % qHERIE Add

2. % GRAGIHRI Ag@

3. % AT AJd

4. ¥ -G HeE g

Question Number : 135 Question Id : 59445947108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Children with which type of body builds tends to have more problems with obesity?
Options :

1. ¥ Mesomorphic

2. ¥ Endomorphic

3. ¥ Hefty

4. % Husky

Question Number : 135 Question Id : 59445947108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

g UBR & IRR aTd I=a) H AleTd o1 A 3fdd gidl 82
Options :

1. % TgHifthe

2. ¢ USHIfthe

3. % gUl

4. % WD

Question Number : 136 Question Id : 59445947109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Inconsistent discipline slows down the process of learning to conform to social expectations. What is this known as?
Options :

1. % Speech hazards

2. ® Social hazards

3. % Moral hazards

4. ¥ Play hazards

Question Number : 136 Question Id : 59445947109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR SR AT SUATST & ST SHTHTH BT UfchdT b1 AT R a1 8| 3 fobd 17 Y W1 SAIell 82
Options :

1. % Wi goned

2. % TR gored

3. ¢ ORd gured

4. % W goey

Question Number : 137 Question Id : 59445947110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Read the following statement and select appropriate option regarding truthfulness.

Statement I: Growth and development are supplementary processes.
Statement II: Growth and development follow an orderly sequence.

Options :

1. # Both Statements are False
2. % Only Statement I is True
3. ¥ Both statements are true

4. ¥ Only statement II is true

Question Number : 137 Question Id : 59445947110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRed Hyt &1 ufey SR Jadl & ey § SUged f[dded &1 99+ SifoTg |

B 1 G 3R P e ufhama 3
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Options :

1. % gHI YT 3TA §

2. % HAA HYT I T g

3. ¥ THl HYT AT §

4. % HFAAPYTINII B

Question Number : 138 Question Id : 59445947111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The type of conditioning in which there is no causal relationship between the response and the reinforcer, is referred by Burrhus Frederic
Skinnerr as

Options :
1. % Successive approximation
2. ¥ Superstitious conditioning

3. # Abnormal behaviour



4. # Shaping

Question Number : 138 Question Id : 59445947111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 BT THR forad ufaferan 3R Uaad & s ®ls SRUI &Y a1 ¢, o ek [&h-R gRT & w0 o gehia fear mr gl
Options :

1. % JTRITR TATBUT

2. ¢ SYfAYRT Srgeie

3. ® MY GdgRR

4. % 3MHR AT

Question Number : 139 Question Id : 59445947112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name the type of behaviour which are elicited by the stimuli of the environment that are well-known and can be identified easily.
Options :

1. # Spontaneous behaviour

2. % Voluntary behaviour

3. % Respondent behaviour

4. % Operant behaviour

Question Number : 139 Question Id : 59445947112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % g AdelRk

2. % Wfesd HIER
3. ¢ Jfddrdl FdeR
4. % fehTTIRId agR




Question Number : 140 Question Id : 59445947113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What has been defined as a form of learning in which capacity of eliciting a response is transferred from one stimulus to another?
Options :

1. ¥ Conditioning

2. % Auditory

3. # Spatial

4. % Linguistic

Question Number : 140 Question Id : 59445947113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SFTH & U &Y H o1 URHT foham 7 g forad ufafehar UTed v & & T SE10- I gkl S84 | RIFIARd 81 S 82
Options :

1. ¢ 3FaYA

2. % Yqul

3. % Wifderd

4. % UTHTE
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Question Number : 141 Question Id : 59445947114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name the type of rehabilitation service that implies functional training, schooling and vocational training, which lead to an independent and
better social integration.

Options :

1. # Passive
2. ¥ Active
3. # Indirect

4. # Secondary

Question Number : 141 Question Id : 59445947114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :




1. % fafepy
2. ¢ Tliha
3. ® UTE
4. % TP

Question Number : 142 Question Id : 59445947115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is synonymous with primary health care (PHC), which is the lowest level of health care delivery.
Options :
1. # Universal health
2. # Comprehensive health
3. ¥ Community medicine

4. % Complementary medicine

Question Number : 142 Question Id : 59445947115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TTfies TR SEUTE &1 00T §, S W ST faaRur o1 fRgad wR g
Options :
1. % FaHIAe Wy
2. % U WY
3. ¥ UG fefden
4. % RS Fafbe

Question Number : 143 Question Id : 59445947116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which kind of classroom teachers may suggest resources and learners may learn at home using ICT for instance by using a video?
Options :

1. # segregated



2. * formal
3. # excluded
4. ¥ flipped

Question Number : 143 Question Id : 59445947116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. * YYapd
2. % ARG
3. % qigshd
4. ¢ o

Question Number : 144 Question Id : 59445947117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What kind of knowledge involves skills for operating ICT and also an awareness of various technologies, their nature, potential and the ways of
using them for accomplishing instructional tasks?

Options :

1. ¥ Technology knowledge

2. # Pedagogy knowledge

3. % Content knowledge

4. % Pedagogy content knowledge

Question Number : 144 Question Id : 59445947117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :




1. ¢ TN I

2. % RITIRE IH

3. % i IE

4. % LA qIEA I

Question Number : 145 Question Id : 59445947118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

is a personality test measuring two scales "instrumentality" and "expressivity", commonly taken to be masculinity and femininity,
respectively.

Options :

1. ¥ Bem Sex Role Inventory (BSRI)

2. ¥ Personal Attributes Questionnaire (PAQ)
3. # Thematic Apperception Test

4. ® Rorschach Test

Question Number : 145 Question Id : 59445947118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 9 I A saexl

2. ¢ A Ufesged HyTR
3. % [qugs qHISIYT TRI&00
4. % ITH TINefoT

Question Number : 146 Question Id : 59445947119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which technology allows users who are blind or have low vision to have content on a computer screen read to them with a speech synthesizer?
Options :



1. ¥ Screen reading
2. # Smart Display
3. * Notetakers

4. ¥ Braille printers

Question Number : 146 Question Id : 59445947119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ b A&7

2. % WC fewm

3. % ecHd

4. % o iR

Question Number : 147 Question Id : 59445947120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name the device that is attached to a computer in order to take documents and print the text out in Braille.
Options :

1. % Screen reading

2. % Braille printers

3. % Notetakers

4. % Smart display

Question Number : 147 Question Id : 59445947120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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2. ¢ §d fiex
3. % qccHyd
4, % TT¢ feat

Question Number : 148 Question Id : 59445947121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Development of which sense becomes more important for visually impaired persons as it helps in getting information related to elevation of the
road surface?

Options :

1. # Sense of touch
2. # Sense of smell
3. % Sense of hearing

4. % Kinaesthetic sense

Question Number : 148 Question Id : 59445947121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

Question Number : 149 Question Id : 59445947122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Read the following statement and select appropriate option regarding truthfulness.



Statement I: 'Orientation’ is the ability to locate oneself in one's environment.
Statement II: 'Mobility' means to move from one place to another.

Options :

1. ¥ Both Statements are true
2. % Only Statement I is True
3. % Only Statement II is True

4. % Both statements are false

Question Number : 149 Question Id
Orientation : Vertical

: 59445947122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 150 Question Id
Orientation : Vertical

: 59445947123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
is the bending of light as it passes through one object to another.

Options :

1. % Reflection

2. % Backscattering
3. ¥ Refraction

4. % Pondering

Question Number : 150 Question Id

: 59445947123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % gidfda

2. % UY PhIuA
3. ¥ 3Oaad
4. % Ui

Question Number : 151 Question Id : 59445947124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The nerve layer lining the back of the eye is known as
Options :

1. # Iris

2. % Pupil

3. % Lens

4. ¥ Retina

Question Number : 151 Question Id : 59445947124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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3. % 39

4. EfPUCH

Question Number : 152 Question Id : 59445947125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which hearing aid is primarily used by patients with conductive losses or those who cannot wear traditional hearing aids?
Options :

1. ¥ Bone vibrator aid

2. % Cochlear implants

3. * Body aid

4. % In the canal aid

Question Number : 152 Question Id : 59445947125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 153 Question Id : 59445947126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which device repeats the words of the speaker without voice?

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. Interpreter

2. Lip speaker

3. Communication support workers

4. Translator



Question Number : 153 Question Id : 59445947126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. gHTSET

2. BIS gl

3. GOR FErdl BRIl

4. 3IAEH

Question Number : 154 Question Id : 59445947127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Name a common term used to describe rubella.
Options :

1. # Retinopathy

2. # Glaucoma

3. % German measles

4. ® Dual sensory impairment

Question Number : 154 Question Id : 59445947127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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4. ® e Yo giA

Question Number : 155 Question Id : 59445947128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name the basic way in Augmentative and Alternative communication that does not require reading and in which symbol sequences are short.
Options :

1. # Alphabet-based systems

2. # Alphabet based pictures

3. # Single meaning pictures

4. ¥ Semantic compaction

Question Number : 155 Question Id : 59445947128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 156 Question Id : 59445947129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

is an umbrella term that encompasses all forms of communication, other than oral speech that is used to express thoughts, needs,
wants, and ideas.

Options :

1. ¥ Augmentative and Alternative communication
2. % Autism Disorder

3. # Attention Deficit Hyperactivity Disorder

4. % Rett's disorder



Question Number : 156 Question Id : 59445947129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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2. % WAl [dpR
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4. % R H1fdpR

Question Number : 157 Question Id : 59445947130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

We can speech by using gestures, eye pointing and body language.
Options :

1. # Alternate

2. ¥ Augment

3. % Substitute

4. ¥ Compensate

Question Number : 157 Question Id : 59445947130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 158 Question Id : 59445947131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which type of learning disability writing requires inordinate amounts of energy, stamina and time?
Options :

1. % Dyscalculia

2. % Dyseidetic Dyslexia

3. ¥ Dysgraphia

4. # Dyseidesia Dyslexia

Question Number : 158 Question Id : 59445947131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % feqdbagpierm

2. % SrIRTSfes fewafayan

3. ¢ f&quithan

4. % SIS RaT fexafRman

Question Number : 159 Question Id : 59445947132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a process by which any living being makes himself/herself conscious through sense organs about his/her environment.
Options :
1. # Socialisation
2. # Reception
3. # Non- formal Learning

4. ¥ Perception

Question Number : 159 Question Id : 59445947132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 160 Question Id : 59445947133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which type of disability is called Hidden Disorder?

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. Learning disability

2. Intellectual disability

3. Locomotor Disability

4. Hearing Impairment

Question Number : 160 Question Id : 59445947133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1. FHTH fam T
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Question Number : 161 Question Id : 59445947134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Name the approach in which the emphasis is placed on phone-morpheme relationship.
Options :

1. # Developmental approach

2. % Linguistic approach

3. # Language experience approach

4. % Fernald method

Question Number : 161 Question Id : 59445947134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % [qpTITHD IUNTH

2. ¢ YN SURTH

3. % YINT 3gHd IUTTH

4. % ATcs fafy

Question Number : 162 Question Id : 59445947135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which stage focuses on adaptable, well motivated and work ready clients, who are capable of performing in open employment?
Options :

1. # Personnel selection

2. % Work role

3. % Job placement

4. ¥ Screening

Question Number : 162 Question Id : 59445947135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % BB T
2. % B YfHeT
3. ¢ B I
4. % THIHT

Question Number : 163 Question Id : 59445947136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which approach, vocational curriculum emphasize work skills for the area of employment within the service facility and generic skills?
Options :

1. # Deductive approach

2. ® Process approach

3. #* Inductive approach

4. ¥ Traditional approach

Question Number : 163 Question Id : 59445947136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % TS U

2. % Yidhdr IUNTH

3. ® NTHATHD 3UNTH

4. ¢ TRWRATd SURTH

Question Number : 164 Question Id : 59445947137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Thematic Apperception test is an example of
Options :



1. ¥ Projective technique
2. * Observation method
3. #* Anecdotal record

4. ¥ Autobiography method

Question Number : 164 Question Id : 59445947137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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2. % Jfqdlh fafYy

3. % JURAFTEHS Rbls

4. % 3fTHBYT iy

Question Number : 165 Question Id : 59445947138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name the process through which the persons born with certain impairment are helped to channelize their residential capacities to their maximum
development.

Options :

1. ¥ Rehabilitation
2. ¥ Habilitation
3. % Guidance

4. # Counselling

Question Number : 165 Question Id : 59445947138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :



1. ® g9
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3. % femm fadw
4. % TR

Question Number : 166 Question Id : 59445947139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The most common food sensitivity in children with autism is to gluten and
Options :

1. # wheat

2. # flour

3. % casein

4, % yeast

Question Number : 166 Question Id : 59445947139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 75

2. & JICT

3. ¢ HEH

4. % GHR

Question Number : 167 Question Id : 59445947140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What does CARS rating system stands for?
Options :

1. # Childhood Autism Rating Score



2. # Cognitive Autism Rating Scale
3. # Clinical Autism Rating Scale
4. ¥ Childhood Autism Rating Scale

Question Number : 167 Question Id : 59445947140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 168 Question Id : 59445947141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Students with do not display clinically significant delays in language acquisition although there may be deficits in the practical use of
language and social-communication skills.

Options :

1. ¥ Asperger's Syndrome

2. % Autism Disorder

3. # Pervasive Developmental Disorder
4. ® Rett's disorder

Question Number : 168 Question Id : 59445947141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 169 Question Id : 59445947142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Read the following statement and select appropriate option regarding truthfulness.

Statement I: Assessment and Intellectual ability are the two steps of Applied Behaviour Analysis.
Statement II: Applied Behaviour Analysis is based on Burrhus Frederic Skinner’s Operant Conditioning.

Options :

1. # Only Statement I is true
2. ¥ only Statement II is True
3. % Both statements are false

4. % Both Statements are True

Question Number : 169 Question Id : 59445947142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 170 Question Id : 59445947143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
includes signed, spoken, and/or written language, as deemed appropriate for the individual.
Options :
1. * Auditory Brainstem Response
2. # Educational evaluation
3. % Communication evaluation

4. % Psycho-educational evaluation

Question Number : 170 Question Id : 59445947143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 171 Question Id : 59445947144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which dimension includes the programs of the groups who's activities includes playing music, singing and drawing?
Options :

1. % Scientific dimension

2. % Social dimension

3. #¥ Cultural dimension

4. % Artistic dimension

Question Number : 171 Question Id : 59445947144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 93T M
2. % gD MH
3. % Gikpide SAH

4. ¢ HdlHD AHUH

Question Number : 172 Question Id : 59445947145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following curriculum has a link between courses and children psychology?
Options :

1. ¥ Learner cantered curriculum

2. % Activity based curriculum

3. % Null curriculum

4. % Rhetorical curriculum

Question Number : 172 Question Id : 59445947145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 173 Question Id : 59445947146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
validity is an important criterion since it helps the student in ‘learning to learn’ science.
Options :



1. # Cognitive
2. ¥ Process
3. % Content
4. % Historical

Question Number : 173 Question Id : 59445947146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 174 Question Id : 59445947147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Many complex behaviour can be taught to mentally handicapped children, if they are broken down into small and simple steps where each step is
taught separately and sequentially until the whole behaviour is learned. What is this method called?

Options :

1. % Prompting
2. ® Task analysis
3. ¥ Chaining

4. % Shaping

Question Number : 174 Question Id : 59445947147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :




1. % QT

2. % HY fgzayur
3. ¢ ofT

4. % JHR T

Question Number : 175 Question Id : 59445947148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which reinforcers are of immediate use to the individual like pen, pencil?
Options :

1. # Positive reinforcers

2. # Generalized Conditioned reinforcers

3. # Exchangeable Reinforcers

4. ¥ Tangible reinforcers

Question Number : 175 Question Id : 59445947148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % GHRIAD A

2. % AP 3rsferd Greier

3. % a8y gee

4. ¢ TS QASqH

Question Number : 176 Question Id : 59445947149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which approach is important to a student’s reading development because it is systematic and also individually tailored to fit each child?
Options :

1. ¥ Orton-Gillingham



2. # Behaviourist approach
3. % Cognitive approach

4. # Developmental approach

Question Number : 176 Question Id : 59445947149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 177 Question Id : 59445947150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the procedure of teaching a behavioural objective in small and simple steps to a child.
Options :
1. # Prompting
2. ¥ Task analysis
3. % Arousal

4. % Actuate

Question Number : 177 Question Id : 59445947150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % OIEI



2.« B fagayo
3. % HIHRIOMT
4. % IHYM (3FgTC)

Question Number : 178 Question Id : 59445947151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Read the following statement and select appropriate option regarding truthfulness.

Statement I: A child with an articulation disorder has problems forming speech sounds properly.
Statement II: A child with a phonological disorder can produce the sounds correctly, but may use them in the wrong place.

Options :

1. # Only Statement II is true
2. % Only Statement I is True
3. ¥ Both statements are true

4. % Both statements are false

Question Number : 178 Question Id : 59445947151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRed Hu! &1 ufey SR Tl & ey § SUged [dded &1 99 SifoTg |
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Options :

1. % FAdHYT N II G

2. % FAAHYT 1T B

3. ¥ CHl HYT AT §

4. % I HYF 3T §

Question Number : 179 Question Id : 59445947152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The structure of statements in a computer language is known as
Options :

1. # Phonetic

2. % Pragmatics

3. ® Semantics

4. ¥ Syntax

Question Number : 179 Question Id : 59445947152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HER U H gred) Bt T & U H ST S g
Options :

1. % GUHD

2. % YhdAIIIaRIH

3. % 3 fagH

4, IR

Question Number : 180 Question Id : 59445947153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the unsolicited repetition of utterances made by others.
Options :
1. ¥ Echolalia
2. # Neologism
3. # Articulation

4. % Perseverance

Question Number : 180 Question Id : 59445947153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. ¢ Hfdsieadr
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Question Number : 181 Question Id : 59445947154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What points out that stigmatization of disability causes potential parents to mistakenly allow one trait to stand in for the whole child in evaluating
prenatal testing and termination decisions?

Options :

1. # Metonymy
2. ¥ Synecdoche
3. % Metalepsis
4. # Trope

Question Number : 181 Question Id : 59445947154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 ST R © o FamaiTTan &1 GIWRIYUT SHTiad ATl o1 SFAgd tRieon SR murd fAofal &1 Jedie o & Tadl @ R o= &
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Options :

1. *® JUcT&ul

2. ¢ RABSH!

3. % ATy

4. % 3MADBR

Question Number : 182 Question Id : 59445947155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An instructional strategy used to reinforce skills taught by the teacher who allows time for practice, review, and opportunities for students to use
higher-level thinking skills is called

Options :

1. # Individual learning

2. % Cross-Age Peer support
3. ¥ Collaborative learning

4. % Peer modelling



Question Number : 182 Question Id : 59445947155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % SOfaaerd e

2. % UR-31g it ggrIdn
3. ¢ ggaryuf S

4. % it grefei

Question Number : 183 Question Id : 59445947156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Read the following statement and select appropriate option regarding truthfulness.

Statement I: Siblings wishes to provide support for their brother or sister with Intellectual Disability can sometimes clash with responsibilities
they have towards spouses, partners, children, their work etc. This can cause tension and guilt for the adult siblings.

Statement II: The future roles that adult siblings might play in the lives of their brothers or sisters are rarely formulated into concrete future care
plans.

Options :

1. # Only Statement II is true
2. # Only Statement I is true
3. % Both statements are false

4. ¥ Both statements are true

Question Number : 183 Question Id : 59445947156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % HAdHYT N II B
2. % FAAdHYT I B
3. % gF HYF 3T §
4. ¢ A FYT I G

Question Number : 184 Question Id : 59445947157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which need for Intellectual Disabled children are about handling their behaviour, how to teach such children, how to play or talk with them and
help them in their development?

Options :

1. ¥ Informative need
2. ® Social need

3. # Self-esteem need

4. % Financial need

Question Number : 184 Question Id : 59445947157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ SHSHRIYUT a=aadl

2. % YIS I Hdl

3. % WA B SRR

4. % fo<ilg S=a




Question Number : 185 Question Id : 59445947158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name the process of assessment mandated by the Right to Education Act of India.
Options :

1. ¥ Summative assessments

2. % Comprehensive and Continuous Assessment

3. ¥ Pre-assessments

4. % Formative assessments

Question Number : 185 Question Id : 59445947158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % NS 3fha

2. ¢ TS R Fdd G

3. % Ud 3

4. % IITHD 3{Thal-

Question Number : 186 Question Id : 59445947159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
of a sound refers to how far an object moves back and forth and the amount of maximum and minimum air pressure created.
Options :
1. % Decibels
2. % Phase
3. % Amplitude
4. ¥ Frequency

Question Number : 186 Question Id : 59445947159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Sdied

2. % TR

3. ¢ 3[MH

4. % 3

Question Number : 187 Question Id : 59445947160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which technology involves measuring the integrity of the outer hair cells of the cochlea?
Options :

1. # Auditory Brainstem Response

2. # Developmental Checklist

3. % High Risk Register

4. % Qtoacoustic emissions

Question Number : 187 Question Id : 59445947160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % YUl HitcTeh TP Ufclfha

2. % fqBTIIES Sid-gat

3. % I SIRIH ISR

4. ¢ MG Ty

Question Number : 188 Question Id : 59445947161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



are electrophysiological procedures used for hearing screening, based upon brainstem response to sound.
Options :
1. ¥ Auditory Brainstem Response
2. % Developmental Checklist
3. ¥ High Risk Register

4. % QOtoacoustic emissions

Question Number : 188 Question Id : 59445947161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faqgd IR Ufshad § forenT STRT 4aur Whif-1 & o b SiTar &, STt &af= & HAftdes waw ufaferar iR smerfd
g 3|
Options :
1. ¥ YUl HitcTeh ¥ Ul
2. % b Sid-gat
3. % I IR IR
4. % AR T

Question Number : 189 Question Id : 59445947162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which data is characterized by non-ordered response categories?
Options :

1. # Ratio data

2. % Nominal data

3. % Ordinal data

4. # Cardinal data

Question Number : 189 Question Id : 59445947162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 3UId Sl
2. ¢ Hichidd Sl
3. % 3fffed SeT
4. % HIfSTA Sl

Question Number : 190 Question Id : 59445947163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The correlation between the two subsets of questions is called the

Options :

1. # Test-retest

2. # Equivalent form technique
3. % Split-half reliability

4. ® Cronbach's alpha

Question Number : 190 Question Id : 59445947163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % OeT-guRIeu (e -Jiew)

2. % OIS =Y Th-1h

3. ¥ &aqe-g1% Remafaferct

4. % DIFED DT

Question Number : 191 Question Id : 59445947164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Name the type of validity that can be either predictive or concurrent.
Options :



1. # Construct validity

2. # Face validity

3. % Content validity

4. ¥ Criterion related validity

Question Number : 191 Question Id : 59445947164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % el &1 (A

2. % Tryg afdrfect

3. % gyt @dc) dudar

4. ¢ AHES et deya

Question Number : 192 Question Id : 59445947165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which method of research can be a face-to-face interview, telephone or mail?
Options :

1. ¥ Survey

2. % Observation

3. % Experiment

4. # Sampling

Question Number : 192 Question Id : 59445947165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ A&l




2. ® 3gale
3. % TN
4, % Yfd<aq

Question Number : 193 Question Id : 59445947166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

It is a stimulus which does not require any conditioning for desired behaviour and sometimes it is known as natural stimulus as well. Name the
stimulus.

Options :

1. # Neutral stimulus

2. ¥ Unconditioned stimulus
3. % Conditioned stimulus

4. % Artificial stimulation

Question Number : 193 Question Id : 59445947166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T8 TP S & o Jifed aeR & e ot srgae & sawaddl 1g! aldl & 3R HHl-H i 38 Uiefae Ieiud & &g & Ht S Sira

21 U BT 1Y I
Options :

1. % G IeIgq
2. ¢ 3ATHT IeIuq
3. % S IE U
4. % HEAY g

Question Number : 194 Question Id : 59445947167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which type of question is a yes or no interrogative that is produced after a teacher characterises a portion of a student's written text as
problematic?

Options :



1. # Unconventional questions
2. # Motivational questions

3. ¥ Reversed Polarity Questions
4. # Synthesis Questions

Question Number : 194 Question Id : 59445947167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % SRURMTI UY

2. % WP Uy

3. ¢ I YAIaar Uy

4. % IV UY

Question Number : 195 Question Id : 59445947168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is credited as the founder of numerical digit zero?
Options :

1. # Srinivasa Ramanujan

2. % Calyampudi Radhakrishna Rao

3. % Brahmagupta

4. ¥ Aryabhata

Question Number : 195 Question Id : 59445947168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % e IS



2. % HAMYS! AYTHW I
3. % e
4. ¢ IMHE

Question Number : 196 Question Id : 59445947169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name the type of feminism that questions why women must adopt certain roles based on their biology, just as it questions why men adopt certain
other roles based on gender.

Options :

1. ¥ Radical feminism
2. # Socialist feminism
3. # Marxist feminism

4. % Materialist feminism

Question Number : 196 Question Id : 59445947169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ 3 ARIdTG

2. % gASAICE! ARIAIG

3. ® HIRare! ARG

4. % Yifqward! IRaG

Question Number : 197 Question Id : 59445947170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Questions raised by learners as reflection of their natural curiosity towards any incidence or phenomenon are known as
Options :

1. # Testable questions



2. ¥ Spontaneous questions
3. % Dichotomous questions

4. # Factual questions

Question Number : 197 Question Id : 59445947170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % TR0 Ay gy

2. ¢ WA Uy

3. % fgeiouHl Uy

4. & dUHD UH

Question Number : 198 Question Id : 59445947171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

____ skills is a sociological term relating to a person's Emotional Intelligence Quotient.
Options :

1. # Social

2. # Hard

3. ¥ Soft

4. % Life

Question Number : 198 Question Id : 59445947171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % rETSTh
2. % gRpd




3.« Y
4, % Sftgq

Question Number : 199 Question Id : 59445947172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name the type of assessment that are in-process evaluations of student learning that are typically administered multiple times during a unit,
course, or academic program.

Options :

1. ¥ Summative assessments
2. # High-stake assessments
3. # Pre-assessments

4. % Formative assessments

Question Number : 199 Question Id : 59445947172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % gD 3fha
2. % XD ATHaA
3. % 4 e

4. ¢ TATHD HTH T

Question Number : 200 Question Id : 59445947173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following refers to a group of disorders that affect muscle movement and co-ordination?
Options :

1. ¥ Cerebral Palsy

2. % Speech Impairment



3. # Locomotor Disability
4. # Learning Disability

Question Number : 200 Question Id : 59445947173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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